(YNORTH

Premium Torches, Spares & Accessories

a r

C=T ard
e

el

TIG TORCHES |
HIGH PERFORMANCE GUARANTEE

TR aHR

Jinan North



-----

whatever worlk thr




@ KLASIK Range «iasik #zi@anzie

KT 9
KT 17

KTW 18

KTW 20

KT 24

KTW 24

KTW 25

KT 26

KTH 17

KT HW 18

KT H 26

15

16

17

18

19

20

21

22

23

24

25




TIG Torch

®

WP9
35%

125ADC
100AAC

®

150ADC
125AAC

\\4l:M 350ADC
100%

270AAC

©

A2l 250A DC
U7 220A AC

®

WP24
35%

1MO0ADC
95AAC

©

WP24W

180ADC
120AAC

100%

7N 250A DC
U7 220A AC

®

WP26

200ADC
LY 150A AC

S

WP12
100%

/

500ADC

@

}

m 100AAC

LNVA 150A DC
L3 125A AC

LNV 350ADC
3 270A AC

Q

QN4 250A DC
L 220A AC

KLASIK

®

g

1O0ADC

S

QP41 250A DC

200ADC
150AAC

95AAC L7 220A AC
"

150ADC LWt 350A DC 200ADC

125A AC L7 270A AC 150AAC

JINAN NORTH WELDING & CUTTING TOOLS COLTD




TIG TORCH

Magnifilk

(Wt 350A DC
L7 270A AC

150ADC
125A AC

200ADC
150AAC

JINAN NORTH WELDING & CUTTING TOOLS COLTD




WP Range

SIS ERMTE—H.
Consumables compatible
to the international
standard.

==

BIRERL. FERLTFHRIIN
1Bk 2 MIERE,

Available with valve, flexible torch
bodies, flexible torch bodies with
valve and “Free” without button.

FRPIBIRIT, TRERHFFX:
B EHIRI T HIFF Ko

Rugged design and 2 types of but-
ton, simple and double.

BB SESENIRIREL,
Very flexible rubber cables with a
high insulation level.

&R S MERE,.
Connections for all types of weld-
ing machines.

Technical Data %5

Cooling Method £#1755( Air-Cooled Air-Cooled Water-Cooled

Rating : e #7 DC/AC 125A/100A 150A/125A 350A/270A

Duty Cycle: E#H % 35% 35% 100%

Electrodes ®: {515 E2 0.5-1.6mm 0.5-2.4mm 0.5-4.0mm
4M NSA1401 NSF1401 NSR1401

JINAN NORTH WELDING & CUTTING TOOLS COLTD



KLASIK SERIES

Water-Cooled ‘ Air-Cooled Water-Cooled Water-Cooled ‘ Air-Cooled Water-Cooled
250A/220A ‘ 110A/95A 180A/120A 250A/220A ‘ 200A/150A 500A
100% ‘ 35% 100% 100% ‘ 35% 100%
0.5-3.2mm ‘ 0.5-2.4mm 0.5-2.4mm 0.5-3.2mm ‘ 0.5-4.0mm 1.6-6.4mm
NSU1401 NSP1401 NSY1401 NSW1401 NSK1401 NSWP1401

JINAN NORTH WELDING & CUTTING TOOLS COLTD




EIE(E: 125A DC 35% H# %, 95A AC 35% H#H; %=,

WwPS9

[Rating: 100A DC 35% duty. S5A AC 35% duty.

®

U |
,‘/.
‘ @ ®
®
Model A/ S
TI;N'I")O ?ch 4m NSA1401

Compontents

1 NTC0012 Alumina Cup Gr.4-®6.4-30mm /13NO8 15 AT NTF0110 TIGOVF Torch Body =) ]2 105k
NTC0013* Alumina Cup Gr.5-®8-30mm/13N09 [ &5 6 NBW0063* Back Cap Long #5:RIE
NTCO014 Alumina Cup Gr.6-®9.8-30mm /13N10 [45EHhl% NBW0OG4 Back Cap Medium +7AfE
NTC0015 Alumina Cup Gr.7-®11.2-30mm/13N11 Y& 51 NBW0O0G5 Back Cap Short %2415
NTC0016 Alumina Cup Gr.8-®12.7-30mm /13N12 & &5 7 KO1* Trigger i/,
NTC0017 Alumina Cup Gr10-®15.7-30mm/13N13 % ; 8  NTPOOO4 Handle =17
NTC0096 Alumina Cup Gr.4L-®6.5-48mm/796F71 % 9 NTHO046-4* TIGY Cable Assembly 4m Long +4a 507 4m
NTC0097 Alumina Cup Gr.5L-®8-48mm /796F72 FE &l 10 NAU6026 M16X1.5 Power Connector —HIZs%
NTC0098 Alumina Cup Gr.6L-®9.5-48mm/796F73 &H&E T 4% NAU3031* M12X1 Power Connector — E3J33-
NTC0101 Alumina Cup Gr.4XL-®6.5-63mm [796F75 BT ZFE 11 NBWO350* Power Adaptor Handle fxf-
NTC0102 Alumina Cup Gr.5XL-®8-63mm/796F76 [l 12 NX2016* 25 mm’ Power Adaptor 25mir’ RHERE "
NTCO0103 Alumina Cup Gr.4XXL-®6.5-89mm [796F79 [ 5 % 13 NEAD326* 1/8G Connector 111ET

2 NTE0003-05 Collet Body ®0.5-21mm/13N25 5% > & 14 QGJTM16X1.5 M16X1.5 Gas Connector S5
NTE0003-10 Collet Body ®1.0-21mm/13N26 3%k 4 QGJT1/4G 1/4G Gas Connector =43~
NTE0003-16* Collet Body ®1.6-21mm/13N27 347 4 QGJTM10X1* M10X1 Gas Connector 55

3 NTD0003-05 Collet ®0.5-25mm/13N20 2743 15 NBX0480 2 Pin Connector - .} ffc

NTD0003-10
NTD0003-16*
4 NTQO001*
5 NTF009*
NTF0010
NTF0109

* Denotes Standard Bulid F=REECE, EECIFIUEERGR S

Collet ®1.0-25mm/13N21 3%
Collet ®1.6-25mm/13N22 55
Gasket 28453

TIGY Torch Body #63k
TIGOF Torch Body ZMtitsk
TIGYV Torch Body 5| Ji6 3

JINAN NORTH WELDING & CUTTING TOOLS COLTD




KLASIK SERIES

WP 17

BE{E ;. 150A DC 35% E 2%, 125A AC 35% HH =, @
Rating: 150A DC 35% duty. 125A AC 35% duty.

Model #! =

Ti‘év$o1r7ch 4m NSF1401
Compontents

1 NTC0002 Alumina Cup Gr.4-d6.4-47mm [ TON50 =11 NTFO118 TIGT7VF Torch Body 7 i _FMt55<
NTC0003 Alumina Cup Gr.5-D6.4-47mm/TON4S KD ZTE 6  NBWOO56 Back Cap Medium /%12
NTC0004 Alumina Cup Gr.6-d6.4-47mm/10N48 [ B LR NBW0066* Back Cap Long t-aans
NTC0005* NBW0OG7 Back Cap Short *Zimig
NTC0006 7 KO™* Trigger i,

NTC0007 8  NTPOOO4 Handle =17

NTC0008 9 NTHO066* TIG17 Cable Assembly 4m Long H&n a8 4m
NTC0091 Alumina Cup Gr.5L-®6.4-76mm /10N49L J5% I+ 10 NAUG026 M16X1.5 Power Connector = HiiEL
NTC0092 Alumina Cup Gr.6L-d6.4-76mm /10N48L |55 NAU3031* M12X1 Power Connector = EBiEs-

NTC0093 Alumina Cup Gr7L-®6.4-76mm/10N47L 30 £ % NAU3024 3/8-24UNF Bolt < FR#5 £

2 NTE0001-05 Collet Body ®0.5-47mm /10N29 Tk ik 11 NBWO351* Power Adaptor Handle {R#E-E/>
NTE0001-10 Collet Body ®1.0-47mm /10N30 G#Z3#F = 12 NX2079* 50 mm’ Power Adaptor 50mm? Rk
NTE0001-16 Collet Body ®1.6-47mm [10N31 “27E 5[ 13 NEAQD326* 1/8G Connector W15/
NTE0001-20 Collet Body ©2.0-47mm 27537 % 14 QGJTM16X1.5 M16X1.5 Gas Connection =&1s 2k
NTE0001-24* Collet Body ®2.4-47mm /10N32 S54F - js QGJT1/4G 1/4G Gas Connection “TEHE "

3 NTD0001-05 Collet ®0.5-50mm/10N21 Lty QGJTMI0XT* M10X1 Gas Connection = Eizk
NTD0001-10 Collet ®1.0-50mm/10N22 5= 15  NBX0480 2 Pin connector 2 % ffs
NTD0001-16 Collet ®1.6-50mm/10N23 3 iR H
NTD0001-20 Collet ©2.0-50mm 2%

NTD0001-24*

4 NTQ0002*

5 NTF0017*
NTF0022
NTF0117

Collet ®2.4-50mm /10N24 Lk
Gasket #2417

TIG17 Torch Body 53~
TIG17F Torch Body 52|%7p =

LN

TIG17V Torch Body i

* Denotes Standard Bulid T AR E, EECHF B4R S

JINAN NORTH WELDING & CUTTING TOOLS COLTD




WP 18

ZEE: 350ADCI00% F#HZ, 270A ACI00% HEEHZ, o
Rating: 350A DC100% duty. 270A AC 100% duty.

.)‘
- ‘ @
®
Model A/ S
Ti"g";;rsch 4m NSR1401

1 NTC0002 Alumina Cup Gr.4-®6.4-47mm/10N50 [E7 05 NTD0001-20 Collet ®2.0-50mm £31%3%
NTC0003 Alumina Cup Gr.5-®6.4-47mm/10N49 [E 7 1505 NTD0001-24* Collet ®2.4-50mm/10N24 $54%#
NTC0004 Alumina Cup Gr.6-®6.4-47mm/10N48 [ 45 NTD0001-32 Collet ®3.2-50mm/10N25 §5
NTC0005* Alumina Cup Gr.7-®6.4-47mm [10N47 [2% 150 NTD0001-40 Collet ®4.0-50mm/54N20 4§51
NTC0006 Alumina Cup Gr.8-®6.4-47mm/10N46 [ 05 NTD0001-48 Collet ®4.8-50mm /30028 551
NTC0007 Alumina Cup Gr10-®6.4-47mm/[10N45 [Z 050 4 NTQO0002* Gasket 44530
NTC0008 Alumina Cup Gr12-®6.4-50mm/10N&44 [ 050 5 NTG0018* TIG18 Torch Body #03k
NTC0091 Alumina Cup Gr.5L-®6.4-76mm/10N49L [2% 10 NTGO0118 TIG18F Torch Body |44t~
NTC0092 Alumina Cup Gr.6L-®6.4-76mm/10N48L Fa 45 0% 6  NBWO0056 Back Cap Medium FH1RiE
NTC0093 Alumina Cup Gr.7L-®6.4-76mm/10N47L [ £ 150 NBWO0066* Back Cap Long {<ifig

2 NTE0001-05 Collet Body ®0.5-47mm/10N29 5415 & NBWO0067 Back Cap Short 521415
NTE0001-10 Collet Body ®1.0-47mm/10N30 273 7 Kot* Trigger {x/]
NTE0001-16 Collet Body ®1.6-47mm/10N31 24f 3 8  NTP0005* Handle i
NTE0001-20 Collet Body ®2.0-47mm 343k g 9  NTHO0088* TIG18 Cable Assembly 4m Long E245258 4m
NTE0001-24* Collet Body ®2.4-47mm/10N32 F24f 32 10 NAU3031* M12X1 Power Connector 7kF3#k
NTE0001-32 Collet Body ®3.2-47mm/10N28 $34f; s 5= 11 QGJT3/8G* 3/8G Water Connector /k&EHk
NTE0001-40 Collet Body ®4.0-47mm /406488 5152 12 QGJT1/4G* 1/4G Gas Connector =&k
NTE0001-48 Collet Body ®4.8-47mm /30126 5473 [ 13 NBX0480 2 Pin Connector 2 i<

3 NTD0001-05 Collet ®0.5-50mm/10N21 543
NTD0001-10 Collet ®1.0-50mm/10N22 51}k
NTD0001-16 Collet ®1.6-50mm/10N23 51}

® R
—
* Denotes Standard Bulid F=REECE, EECIFIUEERGR S ®—

JINAN NORTH WELDING & CUTTING TOOLS COLTD




KLASIK SERIES

WP 20

HUEE: 250ADCI00% BH=, 220A ACI00% BEH =, 0
Rating: 250A DC100% duty.220A AC 100% duty.

Model ! =

Ti‘g’ iozr(lh 4m NSU1401

1 NTC0012 Alumina Cup Gr.4-®6.4-30mm/13N08 [ #1515 NTD0003-10 Collet ©1.0-25mm/13N21 534} ¥
NTC0013* Alumina Cup Gr.5-®8-30mm/13N09 [& 7 05104 NTD0003-16 Collet ®1.6-25mm/13N22 £54%3%
NTCO014 Alumina Cup Gr.6-®9.8-30mm/13N10 &7 151 NTD0003-20 Collet ®2.0-25mm 513
NTC0015 Alumina Cup Gr.7-®11.2-30mm /13N11 [ i NTD0003-24 Collet ®2.4-25mm/13N23 §51%3%
NTC0016 Alumina Cup Gr.8-®12.7-30mm/13N12 [E&E B NTD0003-32 Collet ®3.2-25mm/13N24 551% 3%
NTC0017 Alumina Cup Gr10-®15.7-30mm/13N13 [ £ 155 4 NTQO001* Gasket 42253f
NTC0096 Alumina Cup Gr.4L-®6.5-48mm/796F71 [&7 1 5  NTF0020* TIG20 Torch Body itk
NTC0097 Alumina Cup Gr.5L-®8-48mm/796F72 [57 NTF0220 TIG20F Torch Body Z|4#63%
NTC0098 Alumina Cup Gr.6L-®9.5-48mm/796F73 a7 15l 6  NBWO0063* Back Cap Long {<ifiE
NTC0101 Alumina Cup Gr.4XL-®6.5-63mm/796F75 a7 05104 NBWO0064 Back Cap Medium FHifIE
NTC0102 Alumina Cup Gr.5XL-®8-63mm/796F76 [&# 05 0% NBWO0O065 Back Cap Short 4Z1ig
NTC0103 Alumina Cup Gr.4XXL-®6.5-89mm/796F79 [ 15l 7 KOT* Trigger 4l

2 NTE0003-05 Collet Body ®0.5-21mm/13N25 £33 i 8  NTP0004* Handle 17
NTE0003-10 Collet Body ®1.0-21mm/13N26 £54% Sk i 9  NTHO064* TIG20 Cable Assembly 4m Long F345=f% 4m
NTE0003-16* Collet Body ®1.6-21mm/13N27 543k 2= 10 NAU3019* M12X1 Power Connector 7Kk
NTE0003-20 Collet Body ©2.0-21mm &7y 2 11 QGJT3/8G* 3/8G Water Connector /K& #k
NTE0003-24 Collet Body ®2.4-21mm/13N28 $51f /% 12 QGJT1/4G* 1/4G Gas Connector <&k
NTE0003-32 Collet Body ®3.2-21mm/13N29 5473t /= 13 NBX0480 2 Pin Connector 2 jfifisk

3 NTD0003-05 Collet ©0.5-25mm/13N20 21}

* Denotes Standard Bulid T ERLE, EECHF B4R S

JINAN NORTH WELDING & CUTTING TOOLS COLTD




ZME(E: 10A DC 35%

Rating: TIOA DC 35% duty. 95A AC 35% duty.
©)
® - 4
‘ 7
&
ARKC |
® ®
Model 2! =
Ti"g\’ ﬁozrléh 4m NSP1401

Compontents

WP 24

95A AC 35% EE=

Y

1 NTC0021 Alumina Cup Gr.3-®4-16mm/53N23 [G % M7l NTD0004-24
NTC0022* Alumina Cup Gr.4-®6.4-16.5mm/53N24 [&Z 170 4 NTQO004*
NTC0023 Alumina Cup Gr.5-®8-15.6mm/53N25 [ 15l 5 NTF0024*
NTC0024 Alumina Cup Gr.6-®9.8-15.6mm/53N27 [&# 155 NTF0224
NTC0027 Alumina Cup Gr.4-®6.4-29mm/53N28 [57# 15l 6  KOT*
NTC0028 Alumina Cup Gr.6-®9.8-29mm/53N26 [5% 7 NTP0004*

2 NTE0004-05 Collet Body ®0.5-12mm/53N17 55152 2 8  NTHO0064-A*
NTE0004-10 Collet Body ®1.0-12mm/53N18 554 2 A 9 NAU3031*
NTE0004-16* Collet Body ®1.6-12mm/53N19 £54f sk i 10 NBWO351*
NTE0004-24 Collet Body ®2.4-12mm /24CB332 594 2 11 NX2079*

3 NTD0004-05 Collet ©0.5-14mm/53N15 31} 12 NEA0326*
NTD0004-10 Collet ®1.0-14mm/53N16 591357 13 QGJTM10XT*
NTD0004-16* Collet ®1.6-14mm/53N14 51k 5% 14 NBX0480

* Denotes Standard Bulid TR EEL &

s

WEECHFAUERRR S

Collet ®2.4-14mm/24C332 51k
Gasket 48253

TIG24 Torch Body #6k

TIG24F Torch Body 51f3%

Trigger H#fl

Handle F1#

Cable Assembly 4m Long F345 = 58 4m
M12X1 Power Connector “F3{k
Power Adaptor Handle RifiE

50 mm’ Power Adaptor 50mm’ Rk
1/8G Connector HEi5 A

SERE

2 Pin Connector 2 itk

M10X1 Gas Connector

JINAN NORTH WELDING & CUTTING TOOLS COLTD




WP 24W

FE{E: 1BOADCI00% EEZE,

[Rating: 180A DC100% duty]120A AC100% duty.

120A AC100% EF#3,

KLASIK SERIES

©

Model #1S

WP 24W
Tig Torch

Compontents

1 NTC0021
NTC0022*
NTC0023
NTC0024
NTC0027
NTC0028

2 NTE0004-05
NTE0004-10
NTE0004-16*
NTE0004-24

3 NTDO0004-05
NTD0004-10

* Denotes Standard Bulid T~ imERLE, AT

4m

Alumina Cup Gr.3-d4-16mm/53N23 [E#E B
Alumina Cup Gr.4-®6.4-16.5mm/53N24 [E71510%
Alumina Cup Gr.5-®8-15.6mm/53N25 [&Z 15 0%
Alumina Cup Gr.6-®9.8-15.6mm/53N27 [ %50
Alumina Cup Gr.4-®6.4-29mm/53N28 [F#15
Alumina Cup Gr.6-®9.8-29mm/53N26 [&% 0514
Collet Body ®0.5-12mm/53N17 §5#f; 52 /&=
Collet Body ®1.0-12mm/53N18 343k /&
Collet Body ®1.6-12mm/53N19 51 3% &
Collet Body ®2.4-12mm/24CB332 534 3 %
Collet ®0.5-14mm/53N15 £51} 3%

Collet ®1.0-14mm/53N16 5152

FUERARS

NSY1401

NTD0004-16* Collet ®1.6-14mm/53N14 545
NTD0004-24 Collet ®2.4-14mm/24C332 551
4 NTQO004* Gasket 42538
5  NTG0024* TIG24W Torch Body #83k
NTG0224 TIG24WF Torch Body Z4#63k
6  KOT* Trigger A/l
7 NTP0OO4* Handle 1%
8  NTHO0064-B* Cable Assembly 4m Long E245 = ff
9 NAU3019* M12X1 Power Connector 7kES#5k

10  QGJT3/8G* 3/8G Water Connector /<& :k
11 QGJT1/4G* 1/4G Gas Connector S&E# -
12 NBX0480* 2 Pin Connector 2 &k

JINAN NORTH WELDING & CUTTING TOOLS COLTD




WP 25

BE(E: 250ADCI00% EHZF, 220A ACI00% FHZ,
Rating: 250A DC100% duty.220A AC100% duty.

©

@® ©) ©
== — @
(@)
@ N
Model F/ =
WP 25
Tig Torch 4m NSW1401

Compontents

1 NTC0012
NTC0013*
NTCO014
NTC0015
NTC0016
NTC0017
NTC0096
NTC0097
NTC0098
NTCO101
NTC0102
NTC0103

2 NTE0003-05
NTE0003-10
NTE0003-16*
NTE0003-20
NTE0003-24
NTE0003-32

3 NTD0003-05

Alumina Cup Gr.4-®6.4-30mm/13N08 [&7% 151l

Alumina Cup Gr.5-®8-30mm/13N09
Alumina Cup Gr.6-®9.8-30mm/13N10 [&#05i1&
Alumina Cup Gr.7-®11.2-30mm/13N11 [
Alumina Cup Gr.8-®12.7-30mm/13N12 g7 15l

Alumina Cup Gr10-®15.7-30mm/13N13 (& 1514
Alumina Cup Gr.4L-®6.5-48mm /796F71 [&# 1514

Alumina Cup Gr.5L-®8-48mm/796F72 [4 24 1515
Alumina Cup Gr.6L-®9.5-48mm /796F73 [& %051l
Alumina Cup Gr.4XL-®6.5-63mm/796F75 [0
Alumina Cup Gr.5XL-®8-63mm/796F76 [&4 151
Alumina Cup Gr.4XXL-16.5-89mm/796F79 [ 05 1%
Collet Body ®0.5-21mm/13N25 §51% 3 A

Collet Body ®1.0-21mm/13N26 313

Collet Body ®1.6-21mm/13N27 $54% 32

Collet Body ®2.0-21Tmm 31 =

Collet Body ®2.4-21mm/13N28 &1} 52 EE

Collet Body ®3.2-21mm/13N29 551
Collet ©0.5-25mm/13N20 554%3%

* Denotes Standard Bulid R AnERLE, LA IUERASR S

© L N o u &

NTD0003-10
NTD0003-16
NTD0003-20
NTD0003-24
NTD0003-32
NTQO0001*
NTF0025*
KO1*
NTP0O004*
NTHO0064*
NAU3019*
QGJT3/8G*
QGJT1/4G*
NBX0480*

Collet ®1.0-25mm/13N21 §5if 3%
Collet ®1.6-25mm/13N22 575
Collet ®2.0-25mm 21f3%

Collet ®2.4-25mm/13N23 5% 3%
Collet ®3.2-25mm/13N24 554% 5%
Gasket 4u£5IF

TIG25 Torch Body #63&

Trigger il

Handle 7R

TIG20 Cable Assembly 4m Long FE4 5 5% 4m
M12X1 Power Connector 7kF2#%k
3/8G Water Connector 7K/Efzk
1/4G Gas Connector S&E#Zk

2 Pin Connector 2 /i ffisk

JINAN NORTH WELDING & CUTTING TOOLS COLTD




KLASIK SERIES

WP 26

EE(E: 200A DC 35% EHZ, 1S0A AC 35% FEH=,
Rating: 200A DC 35% duty. 150A AC 35% duty. @

Model /=

rig Toreh n e
Compontents

1 NTC0002 Alumina Cup Gr.4-®6.4-47mm/10N50 [&72050 NTD0001-40 Collet ®4.0-50mm/54N20 515
NTC0003 Alumina Cup Gr.5-®6.4-47mm/10N49 [ NTD0001-48 Collet ®4.8-50mm /30028 51k~
NTC0004 Alumina Cup Gr.6-®6.4-47mm/10N48 [&Z 5% 4 NTQ0002* Gasket #bZ3F
NTC0005* Alumina Cup Gr.7-®6.4-47mm/10N47 [52 0505 5  NTF0026* TIG26 Torch Body 463
NTC0006 Alumina Cup Gr.8-®6.4-47mm/10N46 [ 7 [Fl NTF0027 TIG26F Torch Body itk
NTC0007 Alumina Cup Gr10-®6.4-47mm/10N45 [47 0514 NTF0126 TIG26V Torch Body | 1485k
NTC0008 Alumina Cup Gr12-d6.4-50mm /10N44 [Z 051 NTF0127 TIG26VF Torch Body & JZ-/1%46 5k
NTC0091 Alumina Cup Gr.5L-6.4-76mm /10N49L [ 0511 6  NBWO0056 Back Cap Medium g
NTC0092 Alumina Cup Gr.6L-®6.4-76mm /[10N48L &2 05 NBWO0066* Back Cap Long /2
NTC0093 Alumina Cup Gr.7L-®6.4-76mm/[10N47L [4 % 150 NBWO0067 Back Cap Short f21fiE

2 NTE0001-05 Collet Body ®0.5-47mm/10N29 5143k & 7 KOT* Trigger A
NTE0001-10 Collet Body ®1.0-47mm/10N30 §21; 5 [EE 8 NTP0005 Handle /7
NTE0001-16 Collet Body ®1.6-47mm/10N31 2} /8= 9  NTHO0052* TIG26 Cable Assembly 4m Long E845 55 4m
NTE0001-20 Collet Body ®2.0-47mm $34J; 3 = 10 NAU6026 M16X1.5 Power Connector S =4k
NTE0001-24* Collet Body ®2.4-47mm/10N32 £3#J; I i NAU3031* M12X1 Power Connector S FE#%
NTE0001-32 Collet Body ®3.2-47mm/10N28 %5 NAU3024 3/8-24UNF Bolt <1244
NTE0001-40 Collet Body ®4.0-47mm /406488 31f; 3k = 11 NBWO351* Quick Connector Handle [HiEHE
NTE0001-48 Collet Body ®4.8-47mm /30126 3152/ 12 NX2079* 50 mm? Power Adaptor 50mm’ 3¢

3 NTD0001-05 Collet ®0.5-50mm/10N21 543t 13 NEA0326* 1/8G Connector RifHE
NTD0001-10 Collet ©1.0-50mm/10N22 524 14 QGJTM16X1.5 M16X1.5 Gas Connector “FE# L
NTD0001-16 Collet ®1.6-50mm/10N23 51k QGJT1/4G 1/4G Gas Connector S/&#~
NTD0001-20 Collet ®2.0-50mm 575 QGJTM10X1* M10X1 Gas Connector 5
NTD0001-24* Collet ®2.4-50mm/10N24 5% 15  NBX0480 2 Pin Connector 2 5k
NTD0001-32 Collet ®3.2-50mm/10N25 554% %

* Denotes Standard Buld - imEELE, RV S

JINAN NORTH WELDING & CUTTING TOOLS COLTD




Model #/=

WP 12
Tig Torch

Compontents

1 NTC0021
NTC0018
NTC0019*
NTC0020
NTC0046
NTC0047
NTC0048
NTC0049
NTC0050
NTC0051
NTC0052
NTC0053

2 NTE0008*
NTE0009S-16
NTE0009S-24
NTE0009S-32
NTE0009S-40

WP 12

BE{E: SO0A DCI00% EH
Rating: 500A DC100% duty.

Q

4m

Alumina Cup Gr.6-®9.5-48mm /57N75 [&#: 0515
Alumina Cup Gr.8-®12.5-48mm/57N74 [E7 1505
Alumina Cup Gr10-®16-48mm/53N88 (G4 F %
Alumina Cup Gr12-®19-48mm/53N87 [ £ 05

e

05
Alumina Cup Gr.4-®6.5-32mm/14N57 [57 0550
Alumina Cup Gr.5-®8-32mm/14N58 [&

.

%
Alumina Cup Gr.6-®9.5-32mm/14N59 [&# 5%
Alumina Cup Gr.7-®11-32mm/14N60 [4Z 150

Alumina Cup Gr.8-12.5-32mm/14N61 &2 150
Alumina Cup Gr10-®16-32mm/14N61-10 5

&
Alumina Cup Gr12-®19-32mm/14N61-10 [FE
Alumina Cup Gr.8-®12.5-50mm/14N64 [ 2 150
Collet Body 27mm/11WP65 §54J; 32

Collet Body ®1.6-50mm/11GL16 24k 52

Collet Body ®2.4-50mm/11GL32 £34f 5[

Collet Body ®3.2-50mm/11GL18 £33k 2

Collet Body ®4.0-50mm/11GL53 $54%3k A

* Denotes Standard Bulid = T/EECE, SEECF VRS

NTE0009S-48
3 NTD0008-16

NTD0008-24

NTD0008-32*

NTD0008-40
NTDO0008-48
4 NTQ0009*
5 NTG0012

6 NBWO0069*

NBWO0058
7 Ko1*
8 NTP0007
9 NTH0066
10 NAU3031

11 QGJT3/8G
12 QGJT1/4G
13 NBX0480

NSWP1401

Collet Body ®4.8-50mm/11GL36 %5
Collet ®1.6-50mm /85214 515
Collet ®2.4-50mm /85215 §34%;%
Collet ®3.2-50mm /85216 513
Collet ®4.0-50mm /85217 §51% 35

Collet ®4.8-50mm /85218 $51J 3

Gasket 42253F

TIG12 Torch Body i3k
Back Cap Long < ifiig
Back Cap Short f21/ig
Trigger A4/l

Handle 17

TIG12 Cable Assembly 4m Long FB45 =

M12X1 Power Connector 7KE3 15k
3/8G Water Connector K&k
1/4G Gas Connector S &#zk

2 Pin Connector 2 itk

JINAN NORTH WELDING & CUTTING TOOLS COLTD

fr-

4

sk
sz

Ak 4m




Klasilk Range

S5 5 E R E—E
Consumables compatible

to the international
standard.

h

BinERL. T LTHIRIIHN
L ELZMIEE,

Available with valve, flexible torch
bodies, flexible torch bodies with
valve and “Free” without button.

ANEIFEIT, g, BfE, A%,
fitFlo

Ergonomic lightweight and solid
handle constraction.

ERMKKHERARN, RiIERE,

Smooth revolving ball joint

&R S MEREEL.
Connections for all types of weld-
ing machines.

Technical Data &% KT9 KT17 KTW1s

KLASIK SERIES

P

Cooling Method £#17530 Air-Cooled Air-Cooled Water-Cooled

Rating : ZE 7 DC/AC 125A/95A 150A/125A 350A/270A

Duty Cycle: &% 35% 35% 100%

Electrodes O: $315H1Z 0.5-1.6mm 0.5-2.4mm 0.5-4.0mm
4M NSAT407 NSF1407 NSR1407

JINAN NORTH WELDING & CUTTING TOOLS COLTD




Cooling Method 4#175%

Klasik Range

Water-Cooled Air-Cooled Water-Cooled Water-Cooled Air-Cooled
Rating : #E 7t DC/AC 250A/220A 110A/95 180A/120A 250A/220A 200A/150A
Duty Cycle: E# % 100% 35% 100% 100% 35%
Electrodes ®: 31 E 1% 0.5-3.2mm 0.5-2.4mm 0.5-2.4mm 0.5-3.2mm 0.5-4.0mm
4M NSU1407 NSP1407 NSY1407 NSW1407 NSK1407

JINAN NORTH WELDING & CUTTING TOOLS COLTD




KLASIK SERIES

Cooling Method 2#175= Air-Cooled Water-Cooled Air-Cooled
Rating : e #7 DC/AC 150A/125A 350A/270A 200A/150A
Duty Cycle: E#H % 35% 100% 35%
Electrodes O: {51551 0.5-2.4mm 0.5-4.0mm 0.5-4.0mm
4M NSF4427-K NSR4427-K NSK4427-K

JINAN NORTH WELDING & CUTTING TOOLS COLTD




KTS

FIE(E: 125A DC 35% H#; %, 95A AC 35% H#H; =,

Rating: 125A DC 35% duty. S5A AC 35% duty.

KT 9

Tig Torch lul

NSA1407

Compontents

1 NTC0012 Alumina Cup Gr.4-®6.4-30mm/13N08 EELIE
NTC0013* Alumina Cup Gr.5-®8-30mm/13N09 K& ZI5E
NTCO014 Alumina Cup Gr.6-®9.8-30mm /13N10 [4 0 %
NTC0015 Alumina Cup Gr.7-®11.2-30mm/13N11 [F& 15
NTC0016 Alumina Cup Gr.8-®12.7-30mm/13N12 &EE% %
NTC0017 Alumina Cup Gr10-®15.7-30mm/13N13 %0 Z 715
NTC0096 Alumina Cup Gr.4L-®6.5-48mm /796F71 -3

NTC0097 Alumina Cup Gr.5L-®8-48mm/796F72 %%
NTC0098 Alumina Cup Gr.6L-®9.5-48mm /796F73 (&=
NTC0101
NTCO0102 Alumina Cup Gr.5XL-®8-63mm /796F76 [ 50 %
NTC0103 Alumina Cup Gr.4XXL-16.5-89mm [796F79 ¥R 518
2 NTE0003-05 Collet Body ®0.5-21mm/13N25 $31% 0 &
NTE0003-10 Collet Body ®1.0-21mm/13N26 F2/% k14
NTE0003-16* Collet Body ®1.6-21Tmm/13N27 $34F -k
3 NTD0003-05 Collet ®0.5-25mm/13N20 5tk
NTD0003-10 Collet ®1.0-25mm/13N21 515
NTD0003-16* Collet ®1.6-25mm/13N22 34k
4 NTQO001* Gasket 425if
5  NTF009* TIGY Torch Body #f5k
NTF0010 TIGYF Torch Body ZZ£16 5k
NTF0109 TIGYV Torch Body 5| Jitik
NTF0110 TIGOVF Torch Body il )27 3~
6 NBW0063* Back Cap Long </H1E
NBW0064 Back Cap Medium =i#%iE
NBWO0065 Back Cap Short f21fiE

* Denotes Standard Bulid F=R/EECE, EECHIVERRR S

NBW0303*
NBX6611*
NBX6612
NBX6613
NBX6614
NBX6615
NBX0620
NTP0008-B*
NBWOOO7*
NBW0022*
NTH0064*
NAU&026
NAU3031*
NBW0350
NX2016
NEAD326
QGJTM16X1.5
QGJT1/4G
QGJTM10X1
NBX0480%
NBX0480

Reduction i e

One Button Momentary Kit & — 412

Two Button Momentary Kit 3%, #1245

Three Button Momentary Kit =JFF>-157] 208

4 Button Rocker Momentary Kit JEHF =57 <%
One Button Momentary Kit + Potentiometer H{ 7 X
PCB S SImRErHE Y

Handle 1Y
Locking Nut =17
Ball Joint £ 1"

Tig 9 Cable 4m 45 4m

M16X1.5 Power Connector HRE: L

5

M12X1 Power Connector S E23J5-
Power Adaptor Handle "L=fiif =

25 mm? Power Adaptor 2orrn’ 17
1/8G Connector H1iGH &

M16X1.5 Gas Connector ~'&-F3-

1/4G Gas Connector </Zfi%

M10X1 Gas Connector “—E#2L

2 Pin Connector 2 M %

JINAN NORTH WELDING & CUTTING TOOLS COLTD




KLASIK SERIES

KT 17

BE{E : 150A DC 35% E 2%, 125A AC 35% HH =, @
Rating: 150A DC 35% duty. 125A AC 35% duty.

s

ﬁ‘"

@
Model #! =
TigKTngch 4m NSF1407
Compontents

1 NTC0002 Alumina Cup Gr.4-®6.4-47mm [10N50 FE#5 0 NBW0066 Back Cap Long [<if15
NTC0003 Alumina Cup Gr5-®6.4-47mm /10N49 |45 505 NBW0067 Back Cap Short 52415
NTC0004 Alumina Cup Gr.6-®6.4-47mm /10N48 %S % 7 NBW0303* Reduction i fETI2R
NTC0005* Alumina Cup Gr.7-®6.4-47mm [10N47 [44Hxlr 8 NBX6611% One Button Momentary Kit S25=7-R% 1257
NTC0006 Alumina Cup Gr.8-®6.4-47mm/10N46 EET % NBX6612 Two Button Momentary Kit J-<{4 1 1%
NTC0007 Alumina Cup Gr10-®6.4-47mm/10N45 [ Z 1= NBX6613 Three Button Momentary Kit == <R A1 2 /5
NTC0008 Alumina Cup Gr12-®6.4-50mm /10N&4 [-lsEIE N NBX6614 4 Button Rocker Momentary Kit ST )| X Al Sbi
NTC0091 NBX6615 One Button Momentary Kit + Potentiometer H /=7~
NTC0092 Alumina Cup Gr.6L-086.4-76mm[10N48L EE T 9 NBX0620 PCB (5= #chRBEEiR
NTC0093 Alumina Cup Gr.7L-®6.4-76mm/10N47L [3) ZI50E 10 NTPQOO8-B* Handle T {%

2 NTE0001-05 Collet Body ®0.5-47mm/10N29 “L7kF= = 11 NBW00O7* Locking Nut it 4541
NTE0001-10 Collet Body ®1.0-47mm/10N30 Tk =E& 12 NBWOO022* Ball Joint i1
NTE0001-16 Collet Body ®1.6-47mm /10N31 $5#%32 13 NTHOO66% TIG17 Cable Assembly 4m Long EBAS < 0% 4
NTE0001-20 Collet Body ®2.0-47mm 315 50 & 14 NAU6026 M16X1.5 Power Connector 5 L35
NTE0001-24* Collet Body ®2.4-47mm/10N32 F34Fk NAU3031* M12X1 Power Connector S >

3 NTD0001-05 Collet ©0.5-50mm/10N21 “27k43E NAU3024 3/8-24UNF Bolt " iR
NTD0001-10 Collet ©1.0-50mm /10N22 E7%3= 15  NBWO351* Power Adaptor Handle |2F| &
NTD0001-16 Collet ®1.6-50mm /10N23 #3155 16 NX2079* 50 mm?Power Adaptor S0mn 1R1TH 2k
NTD0001-20 Collet ®2.0-50mm 248k 17 NEAD326% 1/8G Connector [RI5E71)
NTD0001-24* Collet ®2.4-50mm/10N24 F27i s 18 QGJTM16X15 M16X1.5 Gas Connection Sk

4 NTQO002* Gasket 84517 QGJT1/4G 1/4G Gas Connection “\&-F3

5 NTF0O017* TIG17 Torch Body 183~ QGJTM10XT* M10X1 Gas Connection &1
NTF0022 TIG17F Torch Body £2=122% 19  NBX0480 2 Pin connector 2 L
NTFO117 TIG17V Torch Body 77 ~ 457
NTFO118 TIG17VF Torch Body i | I L0k

6  NBWO0056* Back Cap Medium {715

* Denotes Standard Bulid T ERLE, LEECHF B4R S

JINAN NORTH WELDING & CUTTING TOOLS COLTD




KTW 18

ZEE: 350ADCI00% HEHZ, 270AACI00% HFEHZ, 0
Rating: 350A DC100% duty. 270A AC 100% duty.

®
e
|||'
@ 82
Model #! =
T'g‘%:fh 4m NSR1407
Compontents
1 NTC0002 Alumina Cup Gr.4-®6.4-47mm/10N50 EH 1 NTD0001-40 Collet ®4.0-50mm/54N20 F51557
NTC0003 Alumina Cup Gr.5-®6.4-47mm /10N49 |5 Z =0 NTD0001-48 Collet ®4.8-50mm /30028 247k
NTC0004 Alumina Cup Gr.6-D6.4-47mm /10N48 [ BT % 4 NTQO0O2* Gasket #4=Ef
NTC0005* Alumina Cup Gr.7-®6.4-47mm [10N47 [ 0% 5 NTG0018* TIG18 Torch Body 705
NTC0006 Alumina Cup Gr.8-®6.4-47mm/10N46 |5 E T % NTGO118 TIG18F Torch Body 2245463k
NTC0007 Alumina Cup Gr10-6.4-47mm/10N45 211 6  NBW0O056 Back Cap Medium {715
NTC0008 Alumina Cup Gr12-6.4-50mm/10N44 2T M NBW0066* Back Cap Long <fl5
NTC0091 Alumina Cup Gr.5L-®6.4-76mm [10N49L [%:01 NBW0OG7 Back Cap Short 3415
NTC0092 Alumina Cup Gr.6L-®6.4-76mm/10N48L &£ T % 7 NBX6611* One Button Momentary Kit 22==-7% L&,
NTC0093 Alumina Cup Gr7L-®6.4-76mm/10N47L 2 &1 1 NBX6612 Two Button Momentary Kit yX—7412 3
2 NTE0001-05 Collet Body ®0.5-47mm/10N29 “LrY 3z [Ax NBX6613 Three Button Momentary Kit —, il Spd
NTE0001-10 Collet Body ®1.0-47mm [10N30 5 2= NBX6614 4 Button Rocker Momentary Kit Y731 7F JT x40 5t
NTE0001-16 Collet Body ®1.6-47mm /10N31 $312 30 & NBX6615 One Button Momentary Kit + Potentiometer E8TFF 5
NTE0001-20 Collet Body ®2.0-47mm £54F¢ " Ji4 8  NBX0620 PCB {35 = feReMEgiR
NTE0001-24* Collet Body ®2.4-47mm /10N32 §3473k 4 9 NTP0008-B* Handle F4{
NTE0001-32 Collet Body ®3.2-47mm/10N28 “LikzEz 10 NBWOOO7* Locking Nut FFHy1 K551
NTE0001-40 Collet Body ©4.0-47mm /406488 151%3EFE 11 NBWOO24* Ball Joint "5
NTE0001-48 Collet Body ®4.8-47mm /30126 <57 7= 12 NTHO088* TIG18 Cable Assembly 4m Long i< 7 4m
3 NTD0001-05 Collet ®0.5-50mm/10N21 317k 13 NAU3031* M12X1 Power Connector 7 1
NTD0001-10 Collet ®1.0-50mm/10N22 f4t4>= 14 QGIT3/8G* 3/8G Water Connector /KEH% )
NTD0001-16 Collet ®1.6-50mm/10N23 "E7E3E 15 QGJT1/4G* 1/4G Gas Connector STZ4
NTD0001-20 Collet ®2.0-50mm $51% T 16 NBX0480 2 Pin Connector 2 i}k
NTD0001-24* Collet ®2.4-50mm/10N24 $5{%
NTD0001-32 Collet ®3.2-50mm/10N25 2743
@ —
—
i) —
* Denotes Standard Bulid F=ninEECE, EEHFIUEEAGR S

JINAN NORTH WELDING & CUTTING TOOLS COLTD




KLASIK SERIES

KTW 20

FE(E: 250A DC100% ZEK, 220A AC100% H &=, e
Rating: 250A DC100% duty.220A AC100% duty.

@
Model #! =
T'g‘%f?h 4m NSU1407
Compontents

1 NTC0012 Alumina Cup Gr.4-®6.4-30mm /13N08 &&= 4 NTQOOO1* Gasket #B4°R
NTC0013* Alumina Cup Gr.5-®8-30mm/13N09 K& ZM5 % 5 NTF0020* TIG20 Torch Body 722
NTCO014 Alumina Cup Gr.6-®9.8-30mm /13N10 %5E % NTF0220 TIG20F Torch Body ZE/4A(07)
NTC0015 Alumina Cup Gr.7-®11.2-30mm/13N11 [g&0% 7 6 NBWOOG3* Back Cap Long —<1jyr§
NTC0016 Alumina Cup Gr.8-®12.7-30mm/13N12 EEFE NBWQO64 Back Cap Medium {5
NTC0017 Alumina Cup Gr10-®15.7-30mm/13N13 [ 1= NBW0065 Back Cap Short [E{fIE
NTC0096 Alumina Cup Gr.4L-®6.5-48mm/796F71 =& 1% 7 NBWQ303* Reduction & ki5F-233
NTC0097 Alumina Cup Gr.5L-8-48mm [796F72 Fa% I 8  NBX6611* One Button Momentary Kit EFF 2818257
NTC0098 Alumina Cup Gr.6L-®9.5-48mm/796F73 |54 NBX6612 Two Button Momentary Kit I F={AlL 257
NTC0101 Alumina Cup Gr.4XL-6.5-63mm/796F75 Fo £ 10 NBX6613 Three Button Momentary Kit ==—=R412 %
NTC0102 Alumina Cup Gr.5XL-®8-63mm /796F76 i/ I NBX6614 4 Button Rocker Momentary Kit JX7F, Al gipy
NTC0103 Alumina Cup Gr.4XXL-®6.5-89mm [796F79 [5% Il NBX6615 One Button Momentary Kit + Potentiometer =7,

2 NTE0003-05 Collet Body ®0.5-2Tmm/13N25 “5ARTE 9 NBX0620 PCB (55 HIEEIRIR
NTE0003-10 Collet Body ®1.0-21mm/13N26 $54F "\ e 10 NTPO0O8-B* Handle T#%
NTE0003-16* Collet Body ®1.6-21mm/13N27 54 -lejes 11 NBW00O7* Locking Nut 4§52~
NTE0003-20 Collet Body ®2.0-21mm 451k 2= 12 NBW0022* Ball Joint BRAZTS
NTE0003-24 Collet Body ®2.4-21mm/13N28 5173k = 13 NTHOO64*
NTE0003-32 Collet Body ®3.2-21mm/13N29 =54 W= 14 NAU3019*

3 NTD0003-05 Collet ®©0.5-25mm/13N20 £5{Fk 15 QGJT3/8G* 3/8G Water Connector 7tk
NTD0003-10 Collet ®1.0-25mm/13N21 5743 16 QGIT1/4G* 1/4G Gas Connector — %1
NTD0003-16 Collet ®1.6-25mm/13N22 $57%3 17 NBX0480 2 Pin Connector 2 {53k
NTD0003-20 Collet ®2.0-25mm $54%;3#
NTD0003-24 Collet ®2.4-25mm/13N23 517+
NTD0003-32 Collet ®3.2-25mm/13N24 514 =

* Denotes Standard Bulid FrimERLE, Wl

JINAN NORTH WELDING & CUTTING TOOLS COLTD




REE:
Rating:

KT 24

N0A DC 35% HF# %,
TI0A DC 35% duty. 95A AC 35% duty.

95A AC 35% HE=,

®
® |, -
‘ 7
o
¥ ‘ @ ~—
@
Model #! S
TigTTZ;'ch 4m NSP1407
Compontents

NTC0021 Alumina Cup Gr.3-®4-16mm/53N23 % # 314 7 NBX6611* One Button Momentary Kit & 517457
NTC0022* Alumina Cup Gr.4-®6.4-16.5mm/53N24 [FE1=0% NBX6612 Two Button Momentary Kit ;¥ FiRME 7
NTC0023 Alumina Cup Gr.5-®8-15.6mm/53N25 % NBX6613 Three Button Momentary Kit =— 415
NTC0024 Alumina Cup Gr.6-®9.8-15.6mm/53N27 [ 550F % NBXG6614 4 Button Rocker Momentary Kit YL, >
NTC0027 Alumina Cup Gr.4-®6.4-29mm [53N28 [5#:[rilyr NBX6615 One Button Momentary Kit + Potentiometer B/~
NTC0028 Alumina Cup Gr.6-®9.8-29mm/53N26 HETE 8 NBX0620 PCB 5= #eRERETR
NTE0004-05 Collet Body ®0.5-12mm /53N17 §274 kT 9 NTP0QO8-B* Handle T 4%
NTE0004-10 Collet Body ®1.0-12mm/53N18 L7 3 [ 10 NBWOQO7* Locking Nut FAYTH%EET
NTE0004-16* Collet Body ®1.6-12mm/53N19 131k F 11 NBW0D22* Ball Joint F=
NTE0004-24 Collet Body ®2.4-12mm/24CB332 3153 & 12 NTHOO64-A* Cable Assembly 4m Long T47 % 4m
NTD0004-05 Collet ®0.5-14mm/53N15 £33k 13 NAU3D31* M12X1 Power Connector S £ 0 5«
NTD0004-10 Collet ®1.0-14mm/53N16 55i%3F 14 NBWO35T* Power Adaptor Handle {tfEf0t>
NTD0004-16* Collet ®1.6-14mm/53N14 551K 15 NX2079* 50 mm?’ Power Adaptor 50nr* &S
NTD0004-24 Collet ®2.4-14mm/24C332 5L 16 NEA0326* 1/8G Connector [} 4
NTQO0004* Gasket #2435 17 QGJTM10X1* M10X1 Gas Connector =& 2%
NTF0024* TIG24 Torch Body 763k 18 NBX0480 2 Pin Connector 2 i L
NTF0224 TIG24F Torch Body 513
NBW0303* Reduction 1%

* Denotes Standard Bulid F T ERLE

R FUE AR S

JINAN NORTH WELDING & CUTTING TOOLS COLTD




KTW 24

FE{E: 1BOADCI00% EEZE,

120A AC100% 53,
Rating: 180A DC100% duty]20A AC 100% duty.

Q

KLASIK SERIES

f

‘ # @
‘ 7/
Model A/ S
KTW 24
Tig Torch 4m NSY1407
Compontents

1 NTC0021 Alumina Cup Gr.3-®4-16mm/53N23 T2 14 6 NBWO303* Reduction 1 |FIcE 22
NTC0022* Alumina Cup Gr.4-®6.4-16.5mm /53N24 [GLN50E 7 NBX6611* One Button Momentary Kit = H 73542
NTC0023 Alumina Cup Gr.5-®8-15.6mm/53N25 ¥ Z M NBX6612 Two Button Momentary Kit 27+ 71 AL Sk
NTC0024 Alumina Cup Gr.6-®9.8-15.6mm /53N27 % S0 % NBX6613 Three Button Momentary Kit — T34
NTC0027 Alumina Cup Gr.4-®6.4-29mm/53N28 Fg# [l NBX6614 4 Button Rocker Momentary Kit 5%
NTC0028 Alumina Cup Gr.6-®9.8-29mm/53N26 EE TGS NBX6615 One Button Momentary Kit + Potentiometer {1

2 NTE0004-05 Collet Body ®0.5-12mm /53N17 <2743 8  NBX0620 PCB f= S1%Hi B3 1Y
NTE0004-10 Collet Body ®1.0-12mm/53N18 “LrFk3= [ 9  NTP00O8-B* Handle F7A
NTE0004-16* Collet Body ®1.6-12mm/53N19 {54 3EFE 10 NBWO0O7* Locking Nut SFAf55 ST
NTE0004-24 Collet Body ®2.4-12mm /24CB332 51%3E ¥ 11 NBWOO22* Ball Joint IFfF =15

3 NTD0004-05 Collet ®©0.5-14mm/53N15 34k 12 NTHQO64 Cable Assembly 4m Long L2 A7 4m
NTD0004-10 Collet ©1.0-14mm/53N16 27k 13 NAU3019* M12X1 Power Connector /KH7E L
NTD0004-16* Collet ®1.6-14mm/53N14 §51% = 14 QGIT3/8G* 3/8G Water Connector 7<E5§3%
NTD0004-24 Collet ®2.4-14mm[24C332 5473k 15 QGJT1/4G* 1/4G Gas Connector =&+

4 NTQO004* Gasket £ 35 16 NBX0480* 2 Pin Connector 2 ol %

5  NTG0024* TIG24W Torch Body #83k
NTG0224 TIG24WF Torch Body Z|4#63%

* Denotes Standard Bulid %~ m/ER &, VEECHTAUTERSR S

JINAN NORTH WELDING & CUTTING TOOLS COLTD




KTWZ25

BE(E: 250ADCI00% EHZE,

220A AC100% EE3=,

©

[Rating: 250A DC100% duty.220A AC100% duty.
™ €
1% . =
©) @
hy, —
Model #5
KTW 25
Tig Torch 4m NSW1407
Compontents
1 NTC0012 Alumina Cup Gr4-®6.4-30mm [13NO8 [k NTD0003-20 Collet ©2.0-25mm 15§53<
NTC0013* Alumina Cup Gr.5-®8-30mm /13N09 9% Ity NTDOOO3-24 Collet d2.4-25mm/13N23 541
NTCOO14 Alumina Cup Gr.6-d9.8-30mm/13N10 [F& 5 NTD0003-32 Collet ©3.2-25mm/13N24 254F
NTC0015 Alumina Cup Gr.7-d11.2-30mm/13N11 [0 Z 15 4 NTQO0O1* Gasket bz
NTC0016 Alumina Cup Gr.8-®12.7-30mm /13N12 [k & hlk 5 NTF0025*% TIG25 Torch Body ~0
NTC0017 Alumina Cup Gr10-®15.7-30mm/13N13 %53 6 NBWO303* Reduction 1RLE S5
NTC0096 Alumina Cup Gr4L-®6.5-48mm [796F71 &S 7 NBX6611* One Button Momentary Kit = #5412/
NTC0097 Alumina Cup Gr.5L-®8-48mm/796F72 Fi S5 NBX6612 Two Button Momentary Kit 727+ 4l S 0t
NTC0098 Alumina Cup Gr.6L-®9.5-48mm /796F73 %/ NBX6613 Three Button Momentary Kit — JT > fw#].<0t
NTCO101 Alumina Cup Gr4XL-d6.5-63mm /796F75 [ % 1 NBX6614 4 Button Rocker Momentary Kit SY/EHFFR=IZH .21
NTC0102 Alumina Cup Gr.5XL-®8-63mm/796F76 & 415 % NBX6615 One Button Momentary Kit + Potentiometer (17 =
NTC0103 Alumina Cup GraXXL-d6.5-89mm/796F79 ¥ Z 1715 8  NBX0620 PCB 155 Toiu BN
2 NTE0003-05 Collet Body ®0.5-21mm /13N25 T54%3 B 9 NTPO008-B* Handle =1y
NTE0003-10 Collet Body ®1.0-21mm/13N26 173 [E 10 NBW0O0O7* Locking Nut =i &3
NTE0003-16* Collet Body ®1.6-21mm [13N27 3§53 E 11 NBWQO22* Ball Joint Ix7x 1t
NTE0003-20 Collet Body ©2.0-21mm 554k 7 12 NTH0064* TIG20 Cable Assembly 4m Long M#5 2k 41
NTE0003-24 Collet Body ®2.4-21mm/13N28 £54F ~)a 13 NAU3019* M12X1 Power Connector /7L
NTE0003-32 Collet Body ®3.2-21mm/13N29 f2ri 14 QGJT3/8G* 3/8G Water Connector K=
3 NTD0003-05 Collet ®0.5-25mm /13N20 {33 15 QGJT1/4G* 1/4G Gas Connector R
NTD0003-10 Collet ©1.0-25mm/13N21 $3{ 38 16 NBX0480* 2 Pin Connector 7 nihsk
NTD0003-16 Collet ®1.6-25mm/13N22 £ 17

* Denotes Standard Bulid R AVERLE, EEAFIUERAMR S

JINAN NORTH WELDING & CUTTING TOOLS COLTD




KT 26

EE{E: 200A DC 35% FEEK,

® —o

1S0A AC 35% EH =,
Rating: 200A DC 35% duty. 1S0A AC 35% duty.

®

KLASIK SERIES

P ——

®
o |
®
‘ @
@®
Model A=
TigTTerch 4m NSK1407
Compontents

1 NTC0002 Alumina Cup Gr.4-®6.4-47mm [10N50 F=2EIT K [ NBW0056 Back Cap Medium —fis
NTC0003 Alumina Cup Gr5-®6.4-47mm [10N49 [5# 11l NBW0066* Back Cap Long —<1/15
NTC0004 Alumina Cup Gr.6-®6.4-47mm [10N48 EE T % NBW0067 Back Cap Short f2ifts
NTC0005* Alumina Cup Gr.7-®6.4-47mm [10N47 [T £ H5TE 7 NBX6611% One Button Momentary Kit & '| T id12 2
NTC0006 Alumina Cup Gr.8-®6.4-47mm/10N46 HE % NBX6612 Two Button Momentary Kit 27T %3%15.37
NTC0007 Alumina Cup Gr10-®6.4-47mm/10N45 5% NBX6613 Three Button Momentary Kit =54 435
NTC0008 Alumina Cup Gr12-®6.4-50mm /10N44 [EE= NBX6614 4 Button Rocker Momentary Kit JUEFFFF 5N &AL
NTC0091 Alumina Cup Gr.5L-®6.4-76mm/10N4IL [ 25l NBX6615 One Button Momentary Kit + Potentiometer B/ 45
NTC0092 Alumina Cup Gr.6L-®6.4-76mm [10N48L %= 8 NBX0620 PCB (=R
NTC0093 Alumina Cup Gr.7L-®6.4-76mm [1ON47L [5% 11l 9 NTPOO0O8-B* Handle =13

2 NTE0001-05 Collet Body ®0.5-47mm/10N29 545317 s 10 NBWOO0O7* Locking Nut T gl TT
NTE0001-10 Collet Body ®1.0-47mm/10N30 $3 {7 11 NBWOO24* Ball Joint ], 7=
NTE0001-16 Collet Body ®1.6-47mm/10N31 §3{Fk & 12 NTHO052* TIG26 Cable Assembly 4m Long Hi
NTE0001-20 Collet Body ®2.0-47mm 151 13 NAUG026 M16X1.5 Power Connector S
NTE0001-24* Collet Body ®2.4-47mm/10N32 5 {f3E NAU3031* M12X1 Power Connector &5
NTE0001-32 Collet Body ®3.2-47mm/10N28 $51 &= NAU3024 3/8-24UNF Bolt < FEc84e
NTE0001-40 Collet Body ®4.0-47mm /406488 2%k 14 14 NBWO351* Quick Connector Handle [M&EfT
NTE0001-48 Collet Body ®4.8-47mm /30126 otk = 15 NX2079* 50 mm’ Power Adaptor 50mn - {5 FiEk

3 NTD0001-05 Collet ®0.5-50mm/10N21 "=k 16 NEA0326* 1/86G Connector 51273
NTD0001-10 Collet ®1.0-50mm/10N22 27%57 17 QGJTM16X1.5 M16X1.5 Gas Connector =513k
NTD0001-16 Collet ©1.6-50mm /10N23 313 QGJT1/4G 1/4G Gas Connector ==
NTD0001-20 Collet ©2.0-50mm fati3E QGJTM10X1* M10X1 Gas Connector =Bk
NTD0001-24* Collet ®2.4-50mm /10N24 TEr%F 18 NBX0480 2 Pin Connector 2 sk
NTD0001-32 Collet ®3.2-50mm/10N25 §315 7
NTD0001-40 Collet ®4.0-50mm/54N20 £2/%, )
NTD0001-48 Collet ®4.8-50mm /30028 F3Hy

4 NTQ0002* Gasket #8451~

5 NTF0026* TIG26 Torch Body 3~
NTF0027 TIG26F Torch Body z='=f43%
NTF0126 TIG26V Torch Body )14t 3k
NTF0127 TIG26VF Torch Body | 7125 16 3L

* Denotes Standard Bulid = REECE, EEC(F VRS

JINAN NORTH WELDING & CUTTING TOOLS COLTD




KTH 17

ZEE: 150A DC 35% HHZ, 125A AC 35% ETH =, @
Rating: 1S0A DC 35% duty. 125A AC 35% duty.

®
5 0
@ == __(4’// é‘
= ) w
® l /
P
@
Model # =
Ti';,To:Zh o NSF4427-K
Compontents
1 NTCOM7 Alumina Cup Gr.6-®9.5-48mm [ 17 1% NBW0066* Back Cap Long <ifiiE
NTCO118 Alumina Cup Gr.8-®12.5-48mm [/ 05114 NBWO0067 Back Cap Short 57115
NTCO119 Alumina Cup Gr10-®16-48mm [ 15 6  ES0018-B* Cold Wire Adaptor Assembly ix%2 <22
NTCO120 Alumina Cup Gr12-®19-48mm [g#& 170 7 NBWO0303* Reduction #1828
NTCO117L Alumina Cup Gr.6L-®9.5-70mm [5£ 151 8  NBX6611* One Button Momentary Kit &5l
NTCO118L Alumina Cup Gr.8L-®12.5-70mm [ 7 0511 NBX6612 Two Button Momentary Kit 0 5 AL 5 A8
NTCOT19L Alumina Cup Gr10L-®16-70mm 5% Kl NBX6613 Three Button Momentary Kit =7 /12 A%
NTCO120L Alumina Cup Gr12L-®19-70mm [G# 051 NBX6614 4 Button Rocker Momentary Kit JWHEAT 542 50
2 NTE0009-05 Collet Body ®0.5-47mm/10N29 543 % NBX6615 One Button Momentary Kit + Potentiometer F2{iiFf 5
NTE0009-10 Collet Body ®1.0-47mm/10N30 24f 2/ 9  NBX0620 PCB 5 S HIEMERIR
NTE0009-16 Collet Body ®1.6-47mm/10N31 54 522 10  NTP0008-B* Handle =1
NTE0009-24 Collet Body ®2.4-47mm/10N32 5152k 11 NBWO00O7* Locking Nut i S 1F
3 NTD0001-05 Collet ©0.5-50mm/10N21 5% 5% 12 NBWO0024* Ball Joint BRFZ%S
NTD0001-10 Collet ®1.0-50mm/10N22 34%; 5% 13 NTHOO87H* TIG17 Cable Assembly 4m Long FB4;;
NTD0001-16 Collet ®1.6-50mm/10N23 $54% 14 AR0052* Euro Plug MU=l
NTD0001-20 Collet ®2.0-50mm §57/ 5= 15 NX0022* 50 mm’ Dinse Plug 50mm’ BRidHEL
NTD0001-24* Collet ®2.4-50mm/10N24 §51% 3% 16 NBX0480 2 Pin connector 2 ik
4 NTF0O017* TIG17 Torch Body #83k 17 NX0020 10-25 mm’ Dinse Plug 10-25mm’ i
NTF0022 TIG17F Torch Body 4463k
NTF0117 TIG17V Torch Body #5ifi T4k
NTF0118 TIG17VF Torch Body #i@| R4k
5 NBWO0056 Back Cap Medium HiAIE
@)
(==
@

7

* Denotes Standard Bulid R AnERLE, LA IUERESR S

JINAN NORTH WELDING & CUTTING TOOLS COLTD




KTHW 18

ZE{E: 350A DCI00% HFEH =, 270A AC100% HE
Rating: 350A DC100% duty. 270A AC100% duty.

;-

KLASIK SERIES

Model /=

KTHW 18
Tig Torch

4m

NSR4427-K

Compontents

1 NTCO0117
NTC0118
NTC0119
NTC0120
NTCO117L
NTCO118L
NTCO119L
NTCO120L

2 NTE0009-05
NTE0009-10
NTE0009-16
NTE0009-24
NTE0009-32
NTE0009-40

B NTD0001-05
NTD0001-10
NTD0001-16
NTD0001-20
NTD0001-24*
NTD0001-32
NTD0001-40

4 NTG0018*
NTG0118

5 NBW0056
NBWO0066*
NBWO0067

Alumina Cup Gr.6-®9.5-48mm [&# 151
Alumina Cup Gr.8-®12.5-48mm [4& 1505
Alumina Cup Gr10-®16-48mm [ 051
Alumina Cup Gr12-®19-48mm [&Z 151
Alumina Cup Gr.6L-®9.5-70mm &% 150

Alumina Cup Gr.8L-®12.5-70mm [/ 05114

Alumina Cup Gr10L-®16-70mm [4Z 15l
Alumina Cup Gr12L-®19-70mm [&Z 150
Collet Body @0.5-47mm/10N29 51k [
Collet Body ®1.0-47mm/10N30 513k 2
Collet Body ®1.6-47mm/10N31 $24f; 52
Collet Body ®2.4-47mm/10N32 524f 32 i
Collet Body ®3.2-47mm/10N28 543k i
Collet Body ®4.0-47mm /406488 55
Collet ©0.5-50mm/10N21 513
Collet ®1.0-50mm/10N22 51}
Collet ®1.6-50mm/10N23 55i%3%
Collet ®2.0-50mm 531}

Collet ®2.4-50mm/10N24 515
Collet ®©3.2-50mm/10N25 $5i%3E
Collet ®4.0-50mm/54N20 5513
TIG18 Torch Body 4¢3k

TIG18F Torch Body FM4itsk

Back Cap Medium #%iE

Back Cap Long ifiE

Back Cap Short f21fiE

* Denotes Standard Bulid = TEECE, EEC(F VRS

ES0018-B*
NBX6611*
NBX6612
NBX6613
NBX6614
NBX6615
NBX0620
NTP0008-B*
NBWO0007*
NBWO0024*
NTHO088H*
AR0052*
FA3020 (Red)
NX2079*
FA3020 (Blue)
NBX0480
NX0020

Cold Wire Adaptor Assembly i%%25 %2

One Button Momentary Kit 227 X742 8

Two Button Momentary Kit XVFF 2424|560

Three Button Momentary Kit =F =44/ 2

4 Button Rocker Momentary Kit SUHERT T o< A/l = A%
One Button Momentary Kit + Potentiometer #1117
PCB {5 SHEBEEIR

Handle 5717

Locking Nut FiAgiLF

Ball Joint Bk

TIG26 Cable Assembly 4m Long E34% &% 4m

Euro Plug ¥
Water Feed Hose i/ /HiE sk

50 mm’ Dinse Plug 50mm’ R

Water Return Hose 37k ik
2 Pin connector 2 /S#fisk

10-25 mm? Dinse Plug 10-25mm?’ ik

JINAN NORTH WELDING & CUTTING TOOLS COLTD




KTH 26

RNE{E: 200A DC35% BHE, 150A AC 35% EHZE, @
Rating: 200A DC 35% duty. 1I50A AC 35% duty.

Model #! =

Tli<gT 'I’-"ozrgh 4m NSK4427-K
Compontents

1 NTCO117 Alumina Cup Gr.6-®9.5-48mm [ 1% NTF0027 TIG26F Torch Body i1tk
NTCO118 Alumina Cup Gr.8-®12.5-48mm [ 7 05114 NTFO126 TIG26V Torch Body i Jitsk
NTCO119 Alumina Cup Gr10-®16-48mm &7 il NTF0127 TIG26VF Torch Body #5i@I 51448k
NTCO0120 Alumina Cup Gr12-®19-48mm [ M 5 NBW0056 Back Cap Medium =ifflE
NTCO117L Alumina Cup Gr.6L-®9.5-70mm [&Z 150z NBWO0066* Back Cap Long < 1fIE
NTCO118L Alumina Cup Gr.8L-®12.5-70mm [4 & 150 NBW0067 Back Cap Short 421#1E
NTCO119L Alumina Cup Gr10L-16-70mm FgZ 0 6  ES0018-B* Cold Wire Adaptor Assembly %4522
NTCO120L Alumina Cup Gr12L-d19-70mm [&7 150 7 NBX6611* One Button Momentary Kit & 5w/l 2%

2 NTE0009-05 Collet Body ®0.5-47mm/10N29 31J; 3 g NBX6612 Two Button Momentary Kit 44/l 265
NTE0009-10 Collet Body ®1.0-47mm/10N30 $&1f 3 NBX6613 Three Button Momentary Kit = /F A2 A4
NTE0009-16 Collet Body ®1.6-47mm/10N31 543k E NBX6614 4 Button Rocker Momentary Kit AT T 5w = A%
NTE0009-24 Collet Body ®2.4-47mm/10N32 54} NBX6615 One Button Momentary Kit + Potentiometer E3{iJF >
NTE0009-32 Collet Body ®3.2-47mm/10N28 51 3k 8  NBX0620 PCB {5 S ¥ RN
NTE0009-40 Collet Body ®4.0-47mm /406488 5113k /2 9  NTP0008-B* Handle /7

3 NTD0001-05 Collet ©0.5-50mm/10N21 213 10 NBWO00O7* Locking Nut 1%
NTD0001-10 Collet ®1.0-50mm/10N22 551k 11 NBWO0024* Ball Joint TR 75
NTD0001-16 Collet ®1.6-50mm/10N23 5% 12 NTHOO089H* TIG26 Cable Assembly 4m Long E345 & 58 4m
NTD0001-20 Collet ©2.0-50mm £34% % 13 AR0052* Euro Plug MRz(PA
NTD0001-24* Collet ®2.4-50mm/10N24 54k 14 NX0022* 50 mm’ Dinse Plug S0mm’ BRifiEk
NTD0001-32 Collet ®3.2-50mm/10N25 513 15 NBX0480 2 Pin connector 2 ik
NTD0001-40 Collet ®4.0-50mm/54N20 5273k 16 NX0020 10-25 mm’ Dinse Plug 10-25mm” [k

4 NTF0026* TIG26 Torch Body #3k

®7

* Denotes Standard Bulid F - B E, B (U S

JINAN NORTH WELDING & CUTTING TOOLS COLTD




KLASIK SERIES

Handle and Switches

FAA B FF R AZIR

These module/switch options are available as an extension on a standard Klasik-Tig torch. Please ask
for connection details as this depends on used welding machine.

XEEARIR /T REIN A E AR EKasik-TigRINEAE BT o 1B IRIEFT IR SRR IR ERIFIB,

==

(1) (2] (3]

i

v T

Part Number Description
2HS R
1 NBWO0303 Reduction %ISEEE
2 NTP0008-B Handle 17
3 NBWO0007 Locking Nut i 534
4 NBWO0022 Small Ball Joint Tig /NSEJZXT =&
5  NBWO0023 Connection Set(5-parts) for neoprene/leather 7 S04/ S AUE
6  NBWO0024 Large Ball Joint Tig KSERZAT =HE
7 NBW0025 Connection Set(5-parts) for neoprene/leather [ S5iGINTEE A S AHFE
8  NBX6611* One Button Momentary Kit &7 AL A0
9  NBX6612 Two Button Momentary Kit JUFF 544/ & 5%
10 NBX6613 Three Button Momentary Kit — 775 Yo
1 NBX6614 4 Button Rocker Momentary Kit AT 542 60
12 NBX6615 One Button Momentary Kit + Potentiometer 2374 FE {125 7T XA A0
13 NBX0620 PCB (5 SFERIEIR

JINAN NORTH WELDING & CUTTING TOOLS COLTD




Magnifik Range

1Bk AlhEds, WBEK.
FEHINMENR, JURIEEREFRNEZS,

ANEIREFIR, BE, 7%, WA,

SE—1MEL,
W, FXAGHRFHBILE. Bi7KIIEE,

et Ko
ERIRIRE SRR,

Qfs

BAR/NEIHFHo RSB T R IEARIEIR, FAFBEERT

(1) Ergonomic, lightweight, durable and solid (4) Rotatable torch body,able (8) Gold plated spring-pin contacts for opti-
handle construction, with single screw assembly.  to adjust welding angles. mal contact of switch and machine.

(2) Integrated soft rubber handle grips (5) Vertically curved front cap (9) Switch system that keeps dirt and
ensure optimal grip pressure. with grip lines for comfortable water away from the PCB.

and stable pen grip.

(3) Many switch options available. (6) Smooth revolving ball joint. (10) Long life consumables.

(7) Available in two handle sizes.

JINAN NORTH WELDING & CUTTING TOOLS COLTD




Technical Data =%k

Cooling Method #1755

Water-Cooled 'Water Cooled

MAGNIFIK SERIES

MTHW 17

MTHW 18

26

Air-Cooled Water-Cooled Air-Cooled
Rating: DC/AC 320A/230A 450A/360A 150A/125A 350A/270A 200A/150A
Duty Cycle: E# = 100% 100% 35% 100% 35%
Wire Size: 184 EH#R - - 0.5-2.4mm 0.5-4.0mm 0.5-4.0mm

4M - - NSF4427-M NSR4427-M NSK&4427-M

JINAN NORTH WELDING & CUTTING TOOLS COLTD

28




MTW 35

FEE: 320ADC 230A AC/DC, 100% B,
Rating: 320A DC 230A AC/DC, 100% duty. 0

g
Model 7!
Description J#iA End J5 % Part Number 455
M12x1 MTW30-4600
MTW 30-4M 3/8G MTW 30-4800
30-50mm? MTW 30-4650
M12x1 MTW30-8600
MTW 30-8M 3/8G MTW 30-8800
30-50mm? MTW 30-8650
FS 245 IR FS 245 R
1 520700 Torch Body Standard 16k 15 453752 Leather Sheating 23mm L=50cm &
2 500400 Heat Shield (& 16 501293 Connection Set (5-parts) For Neoprene/Leather 23mm
3 500342 41V33 Back Cap Short 41V33 42118 IR R 7 B IEREE 23mm
4 500344 41V35 Back Sap medium 4135 FRFRTE 17 453790 Neoprene Sheating 21mm p/mtr E
5) 500340 41V24 Back Sap long 41V24 1&g 18 306550 Switch cable 4mtr (QuickConnect) 4m FF 4%
6 500360 98W77 O-ring 9 306552 Switch cable 8mtr (QuickConnect) 8m FF 4%
7 500658 13N23 Collet 2.4mm 13N23 84K 2.4mm 19 S60430400 Power/Water Cable 4mtr M12x1
8 500828 45V44 Gas Lens 2.4mm- 45V44 =75 2.4mm S60430422 Power/Water Cable 4mtr 3/8G
9 500564 53N60 Gas Lens Cup 9.5mm Gr. 6 S60430800 Power/Water Cable 8mtr M12x1
10 500504 13N10 Ceramic Cup 9.5mm Gr. 6 [5 560430822 Power/Water Cable 8mtr 3/8G
1 500758 13N28 Collet Body 2.4mm £24f 32/ 20 500890 Insulation Boot # E
12 N8X9510 Switch Module 1-Button complete f 21 306545 Locking clip (QuickConnect) R iE5i5E
13 N8X9900 Handle complete with 1-Button Switch F7% 22 306559 Switch Cable End Without Plug (Quick Connect)
14 509200 Ball-And-Socket Joint With Connection Ring 3

.

* Denotes Standard Bulid 273775/ bVis

JINAN NORTH WELDING & CUTTING TOOLS COLTD




MTW 45

TE(E: 450A DC 360A AC/DC, 100% E&;=<,
Rating: 450A DC 360A AC/DC, 100% duty.

Description ik

MTW 45-4M

End J&¥i
M12x1
3/8G

9/16UNF

30-50mm?

MTW 45-8M

M12x1
3/8G
9/16UNF

30-50mm?

Components =B

No. Part Number Description
IR

1 502051 Torch Body 163k 14
2 502210 0314007 O-ring O P&
3 502070 Back cap long {<iRIE 15
4 502072 Back cap short 521iE 16
5 502554 0314102 Collet 2,4mm
6 502650 0314200 Collet body *# 17
7 502700 0314300 Gas lens S
8 502400 0314201 Ceramic cup 9,5mm [ &
9 502450 0314301 Gas lens cup 9,5mm
10  N8X9510 Switch Module 1-Button complete 7=
11 N8x9950 Handle complete with 1-Button Switch F4f
12 509210 Ball-And-Socket Joint With Connection Ring k7 18
13 453756 Leather Sheating 27mm L=50cm & 19

@) ) 20

* Denotes Standard Bulid 7=

501298

453780
306550
306552
S$88000400
588000422
S$88000425
588000800
588000822
588000825
500890
306545
306559

MAGNIFIK SERIES

Part Number 43S
MTW45-4600
MTW 45-4800
MTW 45-4900
MTW 45-4650

MTW45-8600
MTW 45-8800
MTW 45-8900

MTW 45-8650

Description

iR

Connection set (S-parts) for neoprene/leather 23mm
BN EEREE 23mm

Neoprene sheating 25mm p/mtr &

Switch cable 4mtr (QuickConnect) 4m Ff 4%
Switch cable 8mtr (QuickConnect) 8m Ff 4%
Power/water cable 4mtr M12x1

Power/water cable 4mtr 3/8G

Power/water cable 4mtr 9/16" UNF
Power/water cable 8mtr M12x1

Power/water cable 8mtr 3/8G

Power/water cable 8mtr 9/16" UNF

Insulation boot #45%E&

Locking clip (QuickConnect)
Switch Cable End Without Plug (Quick Connect)

JINAN NORTH WELDING & CUTTING TOOLS COLTD




MTH 17

BE{E: 150A DC 35% E 2%, 125A AC 35% HH =,
Rating: 150A DC 35% duty. 125A AC 35% duty.

MTH 17

TIG Torch Ll

Compontents

1 NTCO117 Alumina Cup Gr.6-®9.5-48mm [ %
NTCO0118 Alumina Cup Gr.8-®12.5-48mm
NTCO119 Alumina Cup Gr10-®16-48mm [5#
NTC0120 Alumina Cup Gr12-d19-48mm [5%
NTCO117L Alumina Cup Gr.6L-®9.5-70mm [&& 150
NTCO118L Alumina Cup Gr.8L-®12.5-70mm [4)
NTCO119L Alumina Cup Gr10L-®16-70mm [
NTCO120L Alumina Cup Gr12L-®19-70mm

2 NTE0009-05 Collet Body ®0.5-47mm/10N29 £24% 5]

NTE0009-10 Collet Body ®1.0-47mm/10N30 5%
NTE0009-16 Collet Body ®1.6-47mm/10N31 3 5=
NTE0009-24 Collet Body ®2.4-47mm/10N32 51k E2

3 NTD0001-05 Collet ®©0.5-50mm/10N21

NTD0001-10 Collet ®1.0-50mm/10N22 53
NTD0001-16 Collet ®1.6-50mm/10N23 §54f52
NTD0001-20 Collet ©2.0-50mm &1}

NTD0001-24* Collet ®©2.4-50mm/10N24 £5i% 5

4 NTF0017* TIG17 Torch Body 183k
NTF0022 TIG17F Torch Body M4tk
NTFO117 TIG17V Torch Body #5ii ik
NTFO118 TIG17VF Torch Body #i@I IRk
5  NBWO0056 Back Cap Medium Fiii5

* Denotes Standard Bulid Z/~AnEBLE, 1t

LIRS

®

NBWO0066*
NBWO0067
ES0018-B*
NBW0303*
8X9510
8X9520
8X9530
8X9550*
8X9570
8X9950*
NBWO0007*
NBW0024*
NTHO087H*
AR0052*
NX2079*
NBX0480
NX0020

NSF4427-H

Back Cap Long < f#ig
Back Cap Short 4Z#fig
Cold Wire Adaptor Assembly %2222

Reduction i%EEES
One Button Momentary Kit & FF 4/l 2 A%
F AR

Three Button Momentary Kit = 3¢

Two Button Momentary Kit

4 Button Rocker Momentary Kit X
One Button Momentary Kit + Potentiometer F3{ijfx
Handle 17

Locking Nut SR L1

Ball Joint T2 =T

TIG17 Cable Assembly 4m Long E245 5 A7 4m

50 mm’ Dinse Plug 50mm’ i

2 Pin connector 2 ik

10-25 mm’ Dinse Plug 10-25mm’ [RifEfE sk

JINAN NORTH WELDING & CUTTING TOOLS COLTD




MAGNIFIK SERIES
MTHW 18

ZEE: 350ADCI00% HEHZ, 270A ACI00% FHFHZ, e
Rating: 350A DC100% duty. 270A AC 100% duty.

@

ﬁ(TsHT\grlﬁ 4m NSR&427-H

1 NTCO0117 Alumina Cup Gr.6-®9.5-48mm [ % 15 1% NBWO0067 Back Cap Short fZi#iE
NTCO118 Alumina Cup Gr.8-®12.5-48mm [ £ 15z ES0018-B Cold Wire Adaptor Assembly =55
NTCO0119 Alumina Cup Gr10-®16-48mm [4% 7 8X9510 One Button Momentary Kit 21
NTC0120 Alumina Cup Gr12-®19-48mm [ 8X9520 Two Button Momentary Kit S0 447154
NTCO117L Alumina Cup Gr.6L-®9.5-70mm [&Z} 8X9530 Three Button Momentary Kit = Jf %45 35
NTCO118L Alumina Cup Gr.8L-®12.5-70mm [ 8X9550 4 Button Rocker Momentary Kit SWHEFF T S &5
NTCO119L Alumina Cup Gr10L-®16-70mm [\ 8X9570 One Button Momentary Kit + Potentiometer £/
NTCO120L Alumina Cup Gr12L-®19-70mm [gZF0E 8  8X9950* Handle F1&

2 NTE0009-05 Collet Body ®0.5-47mm/10N29 543 9 NBWO0007* Locking Nut i@ &4
NTE0009-10 Collet Body ®1.0-47mm/10N30 343t /= 10  NBWO0024* Ball Joint ERFEZTS
NTE0009-16 Collet Body ®1.6-47mm/10N31 54k 11 NTHOO88H* TIG18 Cable Assembly 4m Long 844 5K, 4r
NTE0009-24 Collet Body ®2.4-47mm/10N32 551 J 12 AR0052* Euro Plug [ X
NTE0009-32 Collet Body ®3.2-47mm/10N28 543k [ 13 FA3020 (Red)  Water Feed Hose ifi7k ik
NTE0009-40 Collet Body ®4.0-47mm /406488 5 g 14 NX2079* 50 mm’ Dinse Plug 50mm’ {4

3 NTD0001-05 Collet ®0.5-50mm/10N21 5%z 15 FA3020 (Blue)  Water Return Hose & f
NTDO0001-10 Collet ®1.0-50mm/10N22 $37 16  NBX0480 2 Pin connector 2 &k
NTD0001-16 Collet ®1.6-50mm/10N23 17 NX0020 10-25 mm’ Dinse Plug 10-25mm’ i
NTD0001-20 Collet ®2.0-50mm 24,3 @
NTD0001-24* Collet ®2.4-50mm/10N24 §51% /
NTD0001-32 Collet ®3.2-50mm/10N25 53

NTD0001-40 Collet ®4.0-50mm/54N20 %5

4 NTG0018* TIG18 Torch Body #83k @
NTGO118 TIG18F Torch Body FMitsk

5  NBWO056* Back Cap Medium #%iE
NBWO0066 Back Cap Long {<iflE

@ — =

EE LTS

JINAN NORTH WELDING & CUTTING TOOLS COLTD




MTH 26

ZTE(E ;. 200A DC 35% H 2%, 1S0A AC 35% %K,

Rating: 200A DC 35% duty. 15S0A AC 35% duty.

Model 7S

T,Ivgroffh S NSK&427-H
Compontents

1 NTC0117 NTF0027 TIG26F Torch Body Fiigk
NTC0118 NTF0126 TIG26V Torch Body i Jiek
NTC0119 NTF0127 TIG26VF Torch Body i@ JF& Mk
NTC0120 Alumina Cup Gr12-®19-48mm [/ 5 NBWO0056* Back Cap Medium Fi&NE
NTCO117L Alumina Cup Gr.6L-®9.5-70mm [&Z 1 NBW0066 Back Cap Long AilE
NTCO0118L Alumina Cup Gr.8L-®12.5-70mm NBW0067 Back Cap Short 52115
NTCO119L Alumina Cup Gr10L-®16-70mm 6  ES0018-B Cold Wire Adaptor Assembly %25 %2
NTCO120L Alumina Cup Gr12L-®19-70mm 7 8X9510% One Button Momentary Kit & 75471/

2 NTE0009-05 Collet Body ®0.5-47mm/10N29 5% 8X9520 Two Button Momentary Kit W R4S 6L
NTE0009-10 Collet Body ®1.0-47mm/10N30 % 8X9530 Three Button Momentary Kit =7
NTE0009-16 Collet Body ®1.6-47mm/10N31 $54% 5 8X9550 4 Button Rocker Momentary Kit JHERTFF <4/ 2 A8
NTE0009-24 Collet Body ®2.4-47mm/10N32 5 8X9570 One Button Momentary Kit + Potentiometer FE/1[;
NTE0009-32 Collet Body ®3.2-47mm/10N28 %2/} 8  8X9950 Handle 1
NTE0009-40 Collet Body ®4.0-47mm /406488 3] 9  NBWO0007* Locking Nut S5l E 1R

3 NTDO0001-05 Collet ®0.5-50mm/10N21 273 10  NBWO0O024* Ball Joint ZXfZxT
NTDO0001-10 Collet ®1.0-50mm/10N22 373 1 NTHO089H* TIG26 Cable Assembly 4m Long =845 A7 4m
NTD0001-16 Collet ®1.6-50mm/10N23 $51f < 12 AR0052* Euro Plug RRZCAIE
NTD0001-20 Collet ®2.0-50mm £54% 3% 13 NX2079* 50 mm’ Dinse Plug 50mm
NTD0001-24* Collet ®2.4-50mm/10N24 £54%5= 14 NBX0480 2 Pin connector 2 ik
NTD0001-32 Collet ®3.2-50mm/10N25 53 15 NX0020 10-25 mm? Dinse Plug 10-25mm” |14
NTD0001-40 Collet ®4.0-50mm/54N20 5%

4 NTF0026* TIG26 Torch Body 163k

* Denotes Standard Bulid F - ERLE, LERCHH

THERS

JINAN NORTH WELDING & CUTTING TOOLS COLTD




MAGNIFIK SERIES

Switches

FFRIEIR

These module/switch options are available as an extension on a standard Magnifik-Tig torch. Please ask
for connection details as this depends on used welding machine.

XEEARIR/FF RIEI R {E AR EMagnifik-TigRIMEAE B o 1B IRIEFT A IEN SRR RIRERIF B,

(2]

No. Part Number Description

FS EHS Epuy

1 N8X9510 1-Button switch complete - Momentary switch
2 N8X9560 Lamelle switch complete - Momentary switch
3 N8X9520 2-Button switch complete

Momentary switch with Up / Down application
4 N8X9530 3-Button switch complete

Momentary or Latching switch with Up / Down application
5 N8X9550 4-Button Rocker switch complete

Latching switch with Up / Down application
6 N8X9570 1-Button Potentiometer switch 10 kOhm complete

Momentary switch with Potentiometer

JINAN NORTH WELDING & CUTTING TOOLS COLTD




WEAR PARTS

TIG17/18/26

@) i

NEAOT30  NBWOO66 NBWO0O56 NBW0OG7
NTDOOOT... | NTD0022...
= c
NTQOO27.. NTQO002... NTQO003.. v —
NTE0Q0S... NTEOQOT... | NTE0006...
NTCO117 NTC0118 NTCO119 NTC0120 NTC0002 NTCO006 NTCO091 NTC0031 NTCO034 NTC0086
L] (F 4 7 5L
4 8 5L
— ¥ —
| _amnd | -
6.4 11.2
095 0125 #16 19 064 o127 ¢ ¢
NTCOT17L NTCO118L NTCO115L NTCO120L NTC0003 NTC0007 NTC0032 NTC0035
8 $8
121 5 8
oL BL 10L c o NTC0092 NTC0087
—
— — ¥ 8 6L
48 $15.7 6L 127
NTC0004 NTC0008 NTC0033 NTC0036
$9.5 $12.5 16 19
NTCOT17XL NTCOT18XL NTCOT19XL NTCO120XL 6
G 2 1
$9.5 y $9.5
aXL BAL 10XL 1260
$9.8 19 NTC0093 $98 1
. ¢ NTCO08S
R - 3
NTC0037
NTC0005
7 7L
SHORT
7
$9.5 125 16 19 172
112
11
¢ <|)'I'I

JINAN NORTH WELDING & CUTTING TOOLS COLTD




KLASIK SERIES

WEAR PARTS

1 NBWO0056 Medium Back Cap 36  NTCO120XL Gas L.Alumina Cup Gr.6-¢19

2 NBWO0066 Long Back Cap /57Y02 37 NTD0001-05 Collet $0.5mm 10N21

3 NBW0067 Shot Cap /57Y04 38 NTDO0001-10 Collet $1.0mm 10N22

4 NEA0130 0-Ring 39 NTD0001-16 Collet $1.6mm 10N23

5 NTC0002 Alumina Cup Gr.4-¢6.4/10N50 40  NTD0001-20 Collet $2.0mm

6 NTC0003 Alumina Cup Gr.5-¢:8.0/10N49 41 NTDO001-24 Collet ¢2.4mm 10N24

7 NTC0004 Alumina Cup Gr.6-¢9.8/10N48 42 NTD0001-32 Collet $3.2mm 10N25

8 NTC0005 Alumina Cup Gr.7-¢11.2/10N47 43 NTD0001-40 Collet ¢4.0mm 54N20

9 NTC0006 Alumina Cup Gr.8-¢12.74/10N46 44 NTD0O001-48 Collet $4.8mm 30028

10 NTC0007 Alumina Cup Gr10-¢15.7/10N45 45 NTD0022-10 Collet $1.0mm-Length 52mm

11 NTC0008 Alumina Cup Gr12-$19/10N44 46 NTD0022-16 Collet $1.6mm Length 52mm

12 NTC0031 Gas L.Alumina Cup Gr.4-$6.4/54N18 47 NTD0022-24 Collet $2.4mm Length 52mm

13 NTC0032 Gas L.Alumina Cup Gr.5-$8.0/54N17 48  NTD0022-32 Collet $3.2mm Length 52mm

14 NTC0033 Gas L.Alumina Cup Gr.6-¢9.8/54N16 49 NTD0022-40 Collet $4.0mm Length 52mm

15 NTCO034 Gas L.Alumina Cup Gr.7-¢11.2/54N15 50  NTE0001-05 Collet Body $0.5mm 10N29

16 NTC0035 Gas L.Alumina Cup Gr.8-¢12.7/54N14 51 NTE0001-10 Collet Body ¢1.0mm 10N30

17 NTC0036 Gas L.Alumina Cup Gr11-¢19/54N19L 52 NTE0001-16 Collet Body ¢1.6mm 10N31

18 NTC0037 Gas L.Alumina Cup Gr.Short-$17.2/54N19 53 NTE0001-24 Collet Body ¢2.4mm 10N32

19  NTC0086 Gas L.Alumina Cup Gr.5-¢6.4 76mm/54N17L 54  NTE0001-32 Collet Body ¢p3.2mm 10N28

20 NTCO0087 Gas L.Alumina Cup Gr.6-¢9.5 76mm/54N16L 55  NTE0001-40 Collet Body ¢p4.0mm 406488

21 NTC0088 Gas L.Alumina Cup Gr.7-11.0 76mm/54N15L 56 NTE0001-48 Collet Body ¢4.8mm 30126

22 NTC0091 Gas L.Alumina Cup Gr.5-$8.0 76mm/10N49L 57  NTE0006-05 Collet Body G.Lens 0.5mm 45V29

23 NTC0092 Gas L.Alumina Cup Gr.6-¢9.5 76mm/10N48L 58 NTE0006-10 Collet Body G.Lens 1.0mm 45V24

24 NTC0093 Gas L.Alumina Cup Gr.7-¢11.0 76mm/10N47L 59 NTE0006-16 Collet Body G.Lens 1.6mm 45V25

25 NTCO17 Gas L.Alumina Cup Gr.6-¢9.5 60 NTE0006-24 Collet Body G.Lens 2.4mm 45V26

26 NTCOM8 Gas L.Alumina Cup Gr.6-¢12.5 61  NTE0006-32 Collet Body G.Lens 3.2mm 45V27

27  NTCO1M9 Gas L.Alumina Cup Gr.6-¢16 62 NTE0006-40 Collet Body G.Lens 4.0mm 45V28

28 NTCO0120 Gas L.Alumina Cup Gr.6-¢19/53N87 63 NTQ0027 Large Dia. Gas Lens Insulator

29  NTCO117L Gas L.Alumina Cup Gr.6-¢9.5 64  NTQO0002 Gasket

30 NTCOM8L Gas L.Alumina Cup Gr.6-¢12.5 65 NTQO0003 Gas Lens Insulator

31 NTCO119L Gas L.Alumina Cup Gr.6-¢16 66 TE0009-10 collet Body Large G.Lens 1.0mm 45V0204

32 NTCO120L Gas L.Alumina Cup Gr.6-¢19 67 TE0009-16 collet Body Large G.Lens 1.6mm 45V116

33 NTCOM7XL Gas L.Alumina Cup Gr.6-¢9.5 68 TE0009-24 collet Body Large G.Lens 2.4mm 45V64

34 NTCOM8XL Gas L.Alumina Cup Gr.6-¢12.5 69 TE0009-32 collet Body Large G.Lens 3.2mm 995795

35 NTCO119XL Gas L.Alumina Cup Gr.6-¢16 70  TE0009-40 collet Body Large G.Lens 4.0mm 45V63

NTT0023 Accessory Kit $1.6 Toriated with cap 1 ceramic nozzle 1 ceramic nozzle 1
NTT0024 Accessory Kit $2.4 Toriated with cap 1 collet 1 collet 1
NTT0025  Accessory Kit $3.2 Toriated with cap 1 collet body 1 collet body 1
NTT0103 Accessory Kit ¢1.6Toriated 1 tungsten electrode 1 tungsten electrode 1
NTT0104 Accessory Kit $2.4Toriated 1 long back cap 1
NTTO0105 Accessory Kit ¢3.2Toriated 1

—
NTTO110  Master Accessory Kit 17/18/26 1 f — m

JINAN NORTH WELDING & CUTTING TOOLS COLTD




TIG9/20/25

NTC0012

rs

6.4

NTC0013
5
8

NTCOO014

$9.8

WEAR PARTS

NEA0129

NTQO0001...

NTE0003...

NTC0015

$11.2

NTC0016

$12.7

NTC0017

$15.7

JINAN NORTH WELDING & CUTTING TOOLS COLTD

NBWO0063

NBW0064

NTD0003... u

il

NBWO0065

NTC0096 NTCO0101
41 4XL
4
$6.5
NTC0097 $6.5
513
NTC0102
5XL
U]
NTC0098
6L
8
NTC0103
4XXL
$9.5
$6.5

NTC0041

4

6.4
NTC0042

5

8

NTC0043

$9.8

NTCO044

1.2

NTC0045

8

$12.7




KLASIK SERIES
WEAR PARTS

1 NBW0063 Long Back Cap/41v24 20 NTCO102 Long Alumina Cup Gr.5-¢5.0 /48mm

2 NBWO0064 Medium Back Cap /41V35 21 NTCO103 Long Alumina Cup Gr.4-$6.5 /48mm

3 NBW0065 Shot Cap /41V33 22 NTD0003-05 Collet $0.5mm 13N20

4 NEA0129 O-Ring 98W77 23 NTD0003-10 Collet $1.0mm 13N21

5 NTC0012 Alumina Cup Gr.4-¢6.4/13N08 24 NTD0003-16 Collet ¢p1.6mm 13N22

6 NTC0013 Alumina Cup Gr.5-$8.0/13N09 25 NTD0003-20 Collet $2.0mm

7 NTCO0O014 Alumina Cup Gr.6-¢:9.8/13N10 26 NTD0003-24 Collet $p2.4mm 13N23

8 NTC0015 Alumina Cup Gr.7-¢11.2/13N11 27  NTD0003-32 Collet $3.2mm 13N24

9 NTC0016 Alumina Cup Gr.8-¢12.74/13N12 28 NTE0003-05 Collet Body $0.5mm 13N25

10 NTC0017 Alumina Cup Gr10-$15.7/13N13 29  NTE0003-10 Collet Body $1.0mm 13N26

11 NTCO0041 Gas L.Alumina Cup Gr.4-¢6.4/53N58 30 NTE0003-16 Collet Body ¢1.6mm 13N27

12 NTC0042 Gas L.Alumina Cup Gr.5-¢8.0/53N59 31 NTE0003-24 Collet Body ¢p2.4mm 13N28

13 NTC0043 Gas L.Alumina Cup Gr.6-¢:9.8/53N60 32 NTE0003-32 Collet Body ¢$3.2mm 13N29

14 NTCOO44 Gas L.Alumina Cup Gr.7-¢11.2/53N61 33 NTE0005-05 Collet Body G.Lens 0.5mm 45V41

15 NTC0045 Gas L.Alumina Cup Gr.8-$12.7/53N61S 34 NTE0005-10 Collet Body G.Lens 1.0mm 45V42

16 NTC0096 Long Alumina Cup Gr.4-$6.4 /48mm 35 NTE0005-16 Collet Body G.Lens 1.6mm 45V43

17 NTC0097 Long Alumina Cup Gr.5-$8.0 /48mm 36 NTE0005-24 Collet Body G.Lens 2.4mm 45V44

18  NTC0098 Long Alumina Cup Gr.6-¢9.5 /48mm 37  NTE0005-32 Collet Body G.Lens 3.2mm 45V45

19 NTCO101 Long Alumina Cup Gr.4-¢6.5 /48mm 38 NTQO001 Gasket

NTT0021 Accessory Kit $1.6 Toriated with cap 1 Ceramic nozzle 1 Ceramic nozzle 1
NTT0022 Accessory Kit ¢1.4 Toriated with cap 1 Collet 1 Collet 1
NTTO0101 Accessory Kit ¢1.6 Toriated 1 Collet body 1 Collet body 1
NTT0102 Accessory Kit $2.4 Toriated 1 Tungsten electrode 1 Tungsten electrode 1
NTT0109 Tig9-Tig20(Master Accessory Kit 9-20) 1 Long back cap 1

o = —
SHHER

Protection gas flow is usually guttered by a STANDARD ceramic nozzle (Figure 1). Such flow is affected

by turbulences of torch head which are caused by the inlet pressure. In order to assure an uniform gas
distribution, above all in stainless steel, titanium and aluminium alloys welding, we suggest the use of GAS
LENS spare parts. The electrode holder equipped with a gas lens net, uniforms the flow (Figure 2)and aid to
save the protection gas. Where permitted by external dimensions, it isrecommended the JUMBO version
which increases the protected surface with advantage for welding quality (Figure 3).

RIPSRRRENE B AT ER B R EHIT 5 R(E L) XMUREhRZ B # O E 715 ERE K ZRBVEI. N 7 RIESARY
WD, BRAETHEN MM BT TIFES, HITRINER S BARKER SHMN, FTURYS(E2), ABBTHERF
PREAIMBRT AFIER T, BICRAJUMBORLS, BILINT RIFRE, BT IRERE(E3)

(STANDARD) GAS LENS JUMBO
—
[r— e
A N I A
(Figure 1) (Figure 2) (Figure 3)

JINAN NORTH WELDING & CUTTING TOOLS COLTD




© |
S N | N o L ~— .
=) <+ Q) v =4 © x ~ = o o o S
(] B> © . =4 < < '
E X ' S | » _— g :
© - N ) <+ n © H
e =3 1) o 1 IS} o ) H
oS S o =] =3 o =3 o H
=3 S S S S S S o :
S —— @ @ @ @ @ @ @ !
= S —e w (o) [} [} 1= O =3 '
= = = E E = E = H
E : = = = = = = = :
= H
g g > — _
S S | S P © ~ ~ o
“ o o =
9 [ 1] % s T, - =5 v J— S - 5> mm= 5! Q
m = E - o g & — & ' =
= £ ) o~ o) < 1 © o H b
) = o o o o o o = ' o
= = = o =] S S S =Y H
S N S S S S S S : U
& O el [a) o0 o0 o0 =2} H
£ E £ B g g 2 B _ "
= = = = = = = : -
8 1 0
o Py P - o _— -~ ' ! 0
e <« [CET 8 o o ~ = © [ =) = | ~
= - =2 5 > - e '
= g - - - : L
= - = = _ 4 - 1
%] S ] 3 D © o i e
) ) % o & 2 = = = S : -
o S 1= b S ] 3 ] S 3 ] : )
fal S m—y 3 S T 8 2 2 2 2 2 2 ! ~
s S mr— S S g & o o o O O o :
=3 = <] w o = E = = E = : =)
o = = [ = = = = = = = |
= = = = [ (V)
— —_— :
—, L. I’loo Jloo — ~ " 2" E
< .rm. 0 P-4 © 2 ~ .W © m’ <) = /" [0
H -
o~ fae) < wn © = 7_ D
& 2 = 2 = S :
=Y 1=} o 1=y =3 S ~ -
=3 (=} o =} o o H
g 8 g 8 g g " S
= = = = = = —”" W
= = = = = = !
: 3 :
, 3 | 2
m - ” S
| ) m N
| = | ”
H . < . e o Sy ~ " :
: < g n A ey R ~ = ) g o = ”
_, o S o < i S e - ”
| = o - = =1 — - = :
' [3a) = o) o N ™ F n © =N |
: S ST S = 5 ) S S S ] ,
[ @ O 1<) Wﬁlﬂu N =] =) S S S =) 1
i © a e} ! i} O N @ @ @ @ @ @ |
” g £ 2 £ £ 2 2 g 2 £ b |
P ' E = = = = = = = = = = H”
! @ e— :
i = o - — — Jll — - NG
' < g w» 3 o .w. ~ = © o =] = Q!
: ®) % — — — — T N
' = © '
g e =] ~ ™ < 0 © o /”
! < 1<} = = = = = o [4))
H i = 1=} 1= =Y 1= =) S :
| = = S o S o o S G
H = @ @ @D @ @ @ '
H o o o O ] o] -~
: = E E = = = =~
m . = = = = = = '




N

© ® N o u & W

1
12
13
1%
15
16
7
18
19
20
21
2
23
24
25
26
27
28
37
38
39
40
41

42
43
4t
37
38
39
40
41

42
43

WEAR PARTS

More efficient

Better operational visibility.

EEM

BRI E T

NBWO0063
NBWO0064
NBWO0065
NEA0129
NBWO0056
NBWO0066
NBWO0067
NEA0130
NTCB0012
NTCB0013
NTCBOO14
NTCB0O015
NTCB0016
NTCB0009
NTCBOO12L
NTCBOO13L
NTCBOO14L
NTCBOO15L
NTCBOO16L
NTCB0O009L
NTCB0002
NTCB0003
NTCB0004
NTCB0005
NTCB0006
NTCB0010
NTCBO0O031
NTCB0032
NTCB0033
NTCB0034
NTCB0035
NTCB0036
NTD0001-05
NTD0001-10
NTD0001-16
NTD0001-20
NTD0001-24
NTD0001-32
NTD0001-40
NTD0001-48
NTD0001S-05
NTD0001S-10
NTD0001S-16

Long Back Cap/41V24
Medium Back Cap /41V35
Shot Cap /41V33

0-Ring 98W77

Medium Back Cap

Long Back Cap /57Y02
Shot Cap /57Y04

O-Ring

Glass Cup Gr.4-¢6.4
Glass Cup Gr.5-$8.0
Glass Cup Gr.6-¢9.8
Glass Cup Gr.7-911.2
Glass Cup Gr.8-¢12.7
Glass Cup Gr10-¢15
Glass Cup Gr.4-¢6.4
Glass Cup Gr.5-$8.0
Glass Cup Gr.6-¢:9.8
Glass Cup Gr.7-911.2
Glass Cup Gr.8-¢12.7
Glass Cup §15.

Glass Cup Gr.4-¢6.4
Glass Cup Gr.5-$8.0
Glass Cup Gr.6-¢9.8
Glass Cup Gr.7-911.2
Glass Cup Gr.8-¢12.7
Glass Cup $15

Gas L.Glass Cup Gr.4-$6.4
Gas L.Glass Cup Gr.5-$8.0
Gas L.Glass Cup Gr.6-$9.8
Gas L.Glass Cup Gr.7-$11.2
Gas L.Glass Cup Gr.8-¢12.7
Gas L.Glass Cup Gr11-¢17
Collet $0.5mm

Collet $1.0mm

Collet 1.6mm

Collet $2.0mm

Collet $2.4mm

Collet $3.2mm

Collet ¢p4.0mm

Collet ¢p4.8mm

Short Collet $0.5mm
Short Collet $1.0mm
Short Collet $1.6mm 10N23

44
45
46
47
48
49
50
51

52
53
54
55
56
57
58
59
60
61

62
63
64
65
66
67
68
69
70
7

72

73

74

75
76
77

78
79
80
81

82
83
84
85
86

NTD0001S-20
NTD0001S-24
NTD0001S-32
NTD0001S-40
NTD0001S-48
NTD0003-05
NTD0003-10
NTD0003-16
NTD0003-20
NTD0003-24
NTD0003-32
NTE0001-05
NTE0001-10
NTE0001-16
NTE0001-24
NTE0001-32
NTE0001-40
NTE0001-48
NTE0001S-05
NTE0001S-10
NTE00015-16
NTE0001S-24
NTE0001S-32
NTE0001S-40
NTE0001S-48
NTE0003-05
NTE0003-10
NTE0003-16
NTE0003-24
NTE0003-32
NTEB0006-05
NTEB0006-10
NTEB0006-16
NTEB0006-24
NTEB0006-24
NTEB0006-32
NTEB0006-40
NTQ0001
NTQ0002
NTQ0002S
NTQO0006
NTCZH018
NTCZH009

KLASIK SERIES

Short Collet $2.0mm

Short Collet ¢p2.4mm 10N24
Short Collet ¢$3.2mm 10N25
Short Collet ¢4.0mm 54N20
Short Collet ¢$4.8mm 30028
Collet $0.5mm 13N20

Collet $1.0mm 13N21

Collet $p1.6mm 13N22

Collet $2.0mm

Collet $2.4mm 13N23

Collet $3.2mm 13N24

Collet Body $0.5mm 10N29
Collet Body ¢1.0mm 10N30
Collet Body ¢1.6mm 10N31
Collet Body $2.4mm 10N32
Collet Body $3.2mm 10N28
Collet Body ¢p4.0mm 406488
Collet Body ¢4.8mm 30126
ShortCollet Body $0.5mm

Short Collet Body ¢1.0mm

Short Collet Body ¢p1.6mm

Short Collet Body ¢p2.4mm
Short Collet Body ¢3.2mm

Short Collet Body ¢p4.0mm
Short Collet Body ¢p4.8mm
Collet Body $0.5mm 13N25
Collet Body ¢1.0mm 13N26
Collet Body ¢1.6mm 13N27
Collet Body ¢2.4mm 13N28
Collet Body ¢$3.2mm 13N29
Collet Body G.Lens 0.5mm 45V29
Collet Body G.Lens 1.0mm 45V24
Collet Body G.Lens 1.6mm 45V25
Collet Body G.Lens 2.4mm 45V26
Collet Body G.Lens 2.4mm 45V26
Collet Body G.Lens 3.2mm 45V27
Collet Body G.Lens 4.0mm 45V28
Gasket

Gasket

Stubby Gasket

Gas Lens Insulator

The Nut Use For Glass Cup+0-Ring
The Nut Use For Glass Cup+O-Ring

JINAN NORTH WELDING & CUTTING TOOLS COLTD




Torch Body

Torch Body Options ;&ggigs

WP Tig Torch Heads are 100% interchangeable with OEM Tig torches.

Air and Liquid-Cooled torch bodies are offered with a choice of standard and flexible options. Flexible
options have the ability to be manipulated into different positions.

WPRFIRINIEII0L A 57 @A T IR K B iR 10K B AT R KR8k, AlEEIRER K R K.
IR BV KB RIS

Air-Cooled Range =41tk

STANDARD WITH VALVE AUTO
- NBW...
[
a O NEA..
o]
/ J
NTQ...
FLEXIBLE FLEXIBLE WITH VALVE
/ J
Tig Welding Torch Heads

1 NBWO0061 Valve VS 9/17 21 NTF1000 AUTOTIG 9 Torch Head
2 NBWO0062 Valve VS 26 22 NTF1001 AUTOTIG 26 Torch Head
3 NEAO111 0-Ring 23 NTG0018 TIG 18 Torch Head
4 NEA0122 0-Ring 24 NTG0020 TIG 20 Torch Head
5 NEA0129 98W77 O-Ring 25 NTGO024 TIG 24W Torch Head
6 NTF0009 TIG 9 Torch Head 26 NTGO0224 TIG 24W Flex Torch Head
7 NTF0010 TIG 9 Flex Torch Head 27  TG0025 TIG 25 Torch Head
8 NTF0017 TIG 17 Torch Head 28 NTGO118 TIG 18 Flex Torch Head
9 NTF0022 TIG 17 Flex Torch Head 29 NTG0220 TIG 20 Flex Torch Head
10 NTF0024 TIG 24 Torch Head 30 NTGO0224 TIG 24W Flex Torch Head
1 NTF0026 TIG 26 Torch Head 31  NTG0912 TIG Super 20 Torch Head
12 NTF0027 TIG 26 Flex Torch Head 32 TG0913 TIG Super 18 Torch Head
13 NTF0109 TIG 9 V Torch Head 33 NTG1000 AUTOTIG 20 Torch Head
14 NTFO110 TIG 9 V Flex Torch Head 34 NTG1001 AUTOTIG 18 Torch Head
15 NTFO117 TIG 17 V Torch Head 35 NTQO0001 Insulator Torch Body 9/20/25/Super20
16  NTF0118 TIG 17 V Flex Torch Head 36 NTQ0002 Insulator Torch Body 17/18/26
17 NTF0126 TIG 26 V Torch Head 37 NTQO004 Insulator Torch Body 24/24w
18 NTF0127 TIG 26 V Flex Torch Head 38 NTQO0008 Insulator Torch Body Super18
19 NTF0224 TIG 24 Flex Torch Head 39 NTQ0003 Gas Lens Insulator 54N0117/18/26
20 NTF0024 TIG 24 Torch Head 40  NTGO0012 WP 12 Torch Head

JINAN NORTH WELDING & CUTTING TOOLS COLTD




Tungsten Electrodes

KLASIK SERIES

150mm F5E24% Tungsten Electrodes 150mm

1 NTR0001-10 Pure Tungsten 150mm ¢1.0 8 NTR0003-10 2% Thoriated Tungsten 150mm ¢1.0

2 NTR0001-16 Pure Tungsten 150mm ¢1.6 9 NTR0003-16 2% Thoriated Tungsten 150mm ¢1.6

3 NTR0001-20 Pure Tungsten 150mm ¢2.0 10 NTR0003-20 2% Thoriated Tungsten 150mm ¢2.0

4 NTR0O001-24 Pure Tungsten 150mm ¢2.4 11 NTR0003-24 2% Thoriated Tungsten 150mm ¢2.4

5 NTR0001-32 Pure Tungsten 150mm ¢3.2 12 NTR0003-32 2% Thoriated Tungsten 150mm ¢3.2

6 NTRO001-40 Pure Tungsten 150mm 4.0 13 NTR0003-40 2% Thoriated Tungsten 150mm ¢4.0

7 NTR0O001-48 Pure Tungsten 150mm ¢4.8 14 NTR0003-48 2% Thoriated Tungsten 150mm ¢4.8

175mm £3E34%; Tungsten Electrodes 175mm

1 NTR0002-10 Pure Tungsten 175mm ¢1.0 15 NTRO008-10 2% Cerium Tungsten 175mm ¢1.0

2 NTR0002-16 Pure Tungsten 175mm ¢1.6 16 NTR0008-16 2% Cerium Tungsten 175mm ¢1.6

3 NTR0002-24 Pure Tungsten 175mm ¢$2.4 17 NTR0008-20 2% Cerium Tungsten 175mm ¢2.0

4 NTR0002-32 Pure Tungsten 175mm ¢3.2 18  NTR0008-24 2% Cerium Tungsten 175mm ¢2.4

5 NTR0002-40 Pure Tungsten 175mm ¢4.0 19  NTR0008-32 2% Cerium Tungsten 175mm ¢3.2

6 NTR0002-48 Pure Tungsten 175mm ¢4.8 20 NTR0008-40 2% Cerium Tungsten 175mm ¢4.0

7 NTR0002-64 Pure Tungsten 175mm ¢6.4 21 NTR0008-48 2% Cerium Tungsten 175mm ¢4.8

8 NTR0004-10 2% Thoriated Tungsten 175mm ¢1.0 22 NTR0014-10 1.5% Lantanium Tungsten 175mm ¢1.0
9 NTR0004-16 2% Thoriated Tungsten 175mm ¢1.6 23 NTR0014-16 1.5% Lantanium Tungsten 175mm ¢1.6
10 NTR0004-20 2% Thoriated Tungsten 175mm ¢2.0 24 NTR0014-20 1.5% Lantanium Tungsten 175mm ¢2.0
11 NTRO004-24 2% Thoriated Tungsten 175mm ¢2.4 25 NTROO14-24 1.5% Lantanium Tungsten 175mm ¢2.4
12 NTR0004-32 2% Thoriated Tungsten 175mm ¢3.2 26  NTR0014-32 1.5% Lantanium Tungsten 175mm ¢3.2
13 NTRO004-40 2% Thoriated Tungsten 175mm ¢4.0 27  NTR0014-40 1.5% Lantanium Tungsten 175mm ¢4.0
14 NTRO004-48 2% Thoriated Tungsten 175mm ¢4.8 28 NTR0014-48 1.5% Lantanium Tungsten 175mm ¢4.8

W R RIZEIRE

N

N =

N

3.
4.

45$5 PURE (#&) BFIEEERESE (
2% §M5 CERIATED (k&) BFIHEHNMW. fma®, (TaELME, AFHRE

ZxES

2

IR, ERNRER) o

AR o

2% %135 THORIATED (£18) BFIFEMM. FHMN. RESNURSEMHIRE, EMEEI, EaABINEEAR,

1.5% 5853 LANTANIUM (&) BTFIRERRNRAEN (TEH) .

[ ————————— Wonoree] ———

4545 CERIATED |

Product Parameters $5E81% & /2 5 BN BE

1.0mm
1.6mm
2.0mm
2.4mm
3.0mm
3.2mm
4.0mm

5.0mm

10-75

60-150

100-200

170-250

200-300

225-330

350-480

500-675

1-10
10-20
15-25
17-30
20-25
30-35
35-50
50-70

e (RELANTANUN E——

15-75
60-125
85-160

120-210
140-230
150-250
240-350
330-460

JINAN NORTH WELDING & CUTTING TOOLS COLTD




Cable and Wiring System

Cable Fitting Options %4%iEECEI

Terminations for all types of welding machines.

TIGIE R R AR R B AN RS Lo

Air-Cooled Range =:41&3% A-Cable Fitting /& Ein T TVESBITED A ERE

1 Cable Cover BAIFE (EPDM RIRIME /PVCHNE [ EFAIEEF)

2 Switch wire 2-6 L
@ 3 current cable FER4
4  Gas Hose Rubber/Overbraid 58 #1420
A 5  Wire Plug Cable plug if required AJVEALZAfiE
6  Connection R4S RE K IR T
7 Gas Connector ~ M16X1.5 / M10X1 / 9/16-18UNF S E 5k

B-Cable Fitting /T B inFTEERI T E N (ATl /= 2

1 Cable Cover B4RE (EPDMRIRSNE /PVCHNE / HESAIER)

2 Switch wire 2-6 T
3 current cable Frag
B 4  GasHose Rubber/Overbraid 5*8 % 114)
5  Wire Plug Cable plug if required AIVEALZ AhfiE
6  Connection SRS 1
7  Gas Connector  5/8-18UNF S &k
C-Cable Fitting HIRIGHN B AENGEZEC
1 Cable Cover BAIFE (EPDM RIRIME /PVCHNE | ESAIEEF)
2 Switch wire 2-6 BT HIlEL
C 3 current cable FERL
4  Gas Hose Rubber/Overbraid 5*8 1/ {12}
5  Wire Plug Cable plug if required BJvEALZAdfiE
6  Power Adaptor  10-25mm’ /35-70mm? i
7  Gas Connector  5/8-18UNF S &k
D-Cable Fitting BASB—A/EREEL
1 Cable Cover BAINE (EPDM RRRIME /PVC HNE [ RESHIER)
2 Switch wire 2-6 Rl
3 current cable Frag
D 4 Wire Plug Cable plug if required ] ¥EfR&FhfTiE
5 Power Connector M16X1.5 / M12X1 E3 41k
E-Cable Fitting B2 S8B—@l/EREEL
1 Cable Cover BAIPE (EPDM BRIRINE /PVC INE [ BB A%ERE)
2 Switch wire 2-6 Rl
3 current cable Frag0
4 Wire Plug Cable plug if required A Efg & AdfTiE
E 5  Power Connector 5/8-UNF / 7/18-14UNF E4i#sk
F-Cable Fitting &RiENSEB—AAGEZEO
1 Cable Cover BASPE (EPDM IRERINE /PVC INE / HRESEER)
2 Switch wire 2-6 ST HIlLE
3 current cable T
F 4  Gas Hose Rubber/Overbraid 58 1k 140
5  Wire Plug Cable plug if required =] Yefd = s
6  Power Adaptor  35-70mm? i
7 GasConnector  M16X1.5 / M10X1 / 9/16-18UNF ‘S &4k

JINAN NORTH WELDING & CUTTING TOOLS COLTD




KLASIK SERIES

Cable and Wiring System

Cable Fitting Options  %45&E%ER

Terminations for all types of welding machines.

TIGIE R R AR R AN SR Lo

G-Cable Fitting A PR AEB—AI 5 RE

® 1 Cable Cover BAFE (EPDM RRIMNE /PVC HVE | RESAILE)
2 Switch wire 2-6 5 1EH
3 current cable L
4  Gas Hose Rubber/Overbraid 5*8 1%/ )
® 5  Wire Plug Pna Type 2 pin Plug 2 Sifii&
6  Connection FRASRE KRG+
7 Gas Connector  9/16-18UNF S &4k

Q

H-Cable Fitting 412 &= EREN

1 Cable Cover FB4FE (EPDM IRIRIMNE /PVC HVE [ ESAEE)

@ 2 Switch wire 2-6 L
3 current cable FERL

® 4 Wire Plug Cable plug if required AJvEALZ A iE
5  GasConnector  M16X1.5 / 9/16-18UNF <&k

® 6  Connection M16X1.5 / 7/8-14UNF E845473k

@ 7 Water Connector M16X1.5 / 5/8-18UNF /K& £k

I-Cable Fitting J S BIEEEZEL

1  Cable Cover BAIFE (EPDM RERINE /PVC HNE [ B PIILRE)

2 Switch wire 2-6 T4
1 3 current cable F L
4 Wire Plug Cable plug if required = EAd = A fiTiE
5  Gas Connector 5/8-18UNF S/&#k
6  Connection 7/8-14UNF-LH B84k
7 Water Connector 5/8-18UNF-LH 7k&#5 %
J-Cable Fitting /K IRIERI K2 EREE
1 Cable Cover 4P E (EPDM IRRRIMNE /PVC HVE | ESAERE)
J 2 Switch wire 2-6 S ITH4
3 current cable T
4 Wire Plug Cable plug if required 2 Efd = AT
5  Gas Connector  M16X1.5 / 5/8-18UNF S E#k
6  Power Adaptor  35-70mm? i
7 Water Connector JE/KIRIE (L16)
8  Water Connector JE/KIE ()
K-Cable Fitting #A F/k4/EEEO
1 Cable Cover B4FE (EPDM IRRRIMNE /PVC HVE [ ESAERE)
2 Switch wire 2-6 15 2
3 currentcable 4
4 Wire Plug Pna Type 2 pin Plug 2 &fiidE
K 5  GasConnector  9/16-18UNF S/&zk
6  Connection FRAL RS TR
7 Water Connector 5/8-18UNF &5k
8  Water Connector 5/8-18UNF /KE# %

JINAN NORTH WELDING & CUTTING TOOLS COLTD




Cable connectors

S = =]l

SOCKET PLUG

NX0040 10-25 14 200 NX0020 10-25 14 200
NX0041 35 21 250 NX0021 35 21 250
NX0042 50 21 315 NX0022 50 21 315
NX0067 70 21 400 NX0025 70 21 400
NX0043 70 24 400 NX0023 70 24 400
NX0044 95 24 500 NX0024 95 24 500

|

GiEk AR5

SRR - sy
Locator pin obtained BEGHRE L= ST
from solid metal ?é?r:_of;sttincerotect‘on Socket with spiral groove BRINE
i i
P ————. ir?sElation— #ﬁgiﬂﬂ A vulcanised rubber sleeve
double pin for locking
the copper cable in the
$388 CE thfEr= 95mm? version

REEF

stamped according to
bellow with grommet

CE standard

FEEHMaCEEN
anti-oxidisin
nickekplatec? & CEEN 60974/12 t5f
ring and nut e iedipot i ] made in compliance with
rubber blocks to prevent rotation CE EN 60974/12 standard
WEME BKERIF
anti-loosening washers annealed electrolytic copper connector with
countersinking to ease the introduction of the
cable

JINAN NORTH WELDING & CUTTING TOOLS COLTD




KLASIK SERIES
Cable connectors

g 1] |1] |0 SHRL s
o

o
>

NX0029
PANEL SOCKET-MINI PANEL PLUG-MINI
NX0029 10-25 14 32 200 NX0010 10-25 14 32 200
NX0030 10-25 14 32 200

B |A B |A P :
NX0060
PANEL SOCKET-STANDARD PANEL PLUG-STANDARD
NX0058 35-70 2 38 400 NX0072 3570 2 38 400
NX0059 70-95 2% 38 500 NX0073 70-95 2 38 500
NX0060 3570 2 38 400

os]

b ‘ 1 §

PANEL SOCKET-HIGH PANEL PLUG-HIGH

NX0031 35-70 21 49 400 NX0012 35-70 21 49 400
NX0032 70-95 24 49 500 NX0013 70-95 24 49 500

JINAN NORTH WELDING & CUTTING TOOLS COLTD




FA3045 6 M12X1
FA3046 8 M12X1
FA3047 10 M12X1

FA3045-A 6 Brass

FA3046-A 8 Brass

FA3047-A 10 Brass
M

FA3044 1/8G Brass

FA3044-A M10X1 Brass

®
|

R a s

S —

<
n
t'l
l..

FA0000-A 6 1/8G
FA0000-B 8 1/8G
FA0001-A 6 M10X1
FA0001-B 8 M10X1

Quick connectors

Brass
Brass

Brass

Brass

Brass
Brass

Brass

FA3075 6 M12X1 Red FA3085
FA3076 8 M12X1 Red FA3086
FA3077 10 M12X1 Red FA3087

FA3075-A 6 Red FA3085-A
FA3076-A 8 Red FA3086-A
FA3077-A 10 Red FA3087-A

FA3074 1/8G Brass FA3084

FA3074-A M10X1 Brass FA3084-A

FA3020-4 4 Brass FA3027

FA3020 6 Brass FA3027-A
FA3020W 8 Brass FA3027-B
FA3020M 8.6 Brass FA3027-C

JINAN NORTH WELDING & CUTTING TOOLS COLTD

6 M12X1
8 M12X1
10 M12X1
s '
e

10

1/8G
M10X1

1/4G
1/8G
M10X1
M12X1

Blue
Blue

Blue

Brass

Brass

Brass
Brass
Brass

Brass




NT300

NT300- EEE TIG iX£4/

TIG 1841
TIG GENERATOR

ns NT300

KL BE AC~24V

BREBE AC~220V

EELRE 0-10m/min

EeER 0.8-1.6mm

BEEL S 200N

EfgiRe i 50X300X103 (4% X JMZE X BEFE)

ERRLEE  FEWN. RWKT (BL) F
BERCIRLER < 20KG

EeES 10KG
FAiPER P23
SMERST 480X200X270mm

1 NSR1407S
NSR1410S
NSU1407S
NSK1407S

2 NMU0500

3 NBX0500

KLASIK SERIES

NT300-iX L4 X EIhEE
1, ELREIRT

2, [ol4h/3ERY % £2 B jE) TS
3. iX4/EH%ER

4. Fzh/BzhiEiE

%44 TIG18-4 K

%42 AUTOTIG18-4 K

342 TIG20-4 K

%44 TIG26-4 K

NT300-TIG %241

AC~220V ¥ AC~24V HBiREFD S

Technical Data 3%

REAR K& REAER

RIFS faiat RIFS
HHE 100% HHE

BAER 250A DC~220A AC =AER

IKE 4Bar

KmE 1.5L/min

=R
it
35%
200A DC~150AAC

REAHR K2

RiFS Eaiat

BHHE 100%

RAEMR 350A DC~270A AC
KE 4Bar

e 1.5L/min

JINAN NORTH WELDING & CUTTING TOOLS COLTD




(Y)NORTH

With partners across China and the world,
NORTH has a truly national and international
understanding and unparalleled collective expertise.

Jinan North Welding & Cutting Tools Co Ltd

FEEIESIMERRRR

No.25 XinMaoQilLu Sci-tech Zone Zidong Road Tiangiao Zone Jinan 250121
Shandong, PR. China

FELAREFEmATKREEZEXTER K255

China Sales (£t 2B) : 053188010828 /0531 8866 7989

Fax ({f£E) :053188662278

Tig Torch Series for Everyone ™
northweld.com

All Trademarks / Part Numbers printed in this catalogue are the property of their respective owners and are for reference purposes only. All Trademarks / Part Numbers are
in no way connected or affiliated with Jinan North Welding & Cutting Tools Co Ltd. Specification / Product Information / Product Appearance are subject to change without
notice. Please refer to www.northweld.com for the most up-to-date data.

NC005-02-0422



